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A discipline that focuses on the interpretation and understanding of the actual meaning of sacred texts is -

. Interpretation of holy books
. Religious studies

. Spirituality

. Hermeneutics
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Mana is a form of

. Modern religion

. Post-modern religion
. Civil religion

. Primitive religion
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The founder of comparative study of religions is :

. Max Miiller

. Rudolf Otto

. W. Cantwell Smith
. E. Durkheim
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"A name for rituals that make important transitions in the human life cycle such as the rituals associated with
birth, marriage and death” are called:

1. Rites of passage
2. Folk tradition
3. Custom
4. Myth
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The main aim of the study of religion is ;

. To preach the religion

. To defend the religion

. To provide a scientific justification of the existence of God
. To understand the religion
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The statement, "magic is mistaken science" 1s given by:
3 F = -

. Immanuel Kant
. F Max Miiller

. J.G. Frazer

. David Hume
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The coneept "mysterium tremendum” is given by:

. Rudolf Otto

. Paul Tillich

. William James
. John Hick
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The main aim of interfaith dialogue 1s:

. Understand the scriptures

. Dialogue with own faith

. Creating conflict in faiths

. Creating sense of co-existence
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"Idea of Language Game" is presented by :

1. Bronislaw Malinowski
2. Martin Buber

. George Hegel

. Ludwig Wittgenstein
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The book "Elementary forms of Religion Life" is written by

1. D.T. Suzuki
2. Max Weber
3. Emile Durkheim
4. Mircea Eliade
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The word "Religion" is derived from this language:
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An object, usually an animal or plant or its symbol that a clan or tribe views as a sacred ancestor is called:
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Maharisi Kanada is a writer of:

. Yogasttra

. Vaisedikasttra
. Mimamasutra
. Kalpasutra

o B R

(1) 1




) 2
3) 3
(4) 4

Teeue 59 U= & IFgdr s -
1?1'111133 "

oA

Fead

a2 b

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15049]
2[Option ID=15050]

3[Option ID=15051]
4[Option ID=15052]

Sl. No.14
QBID:162014

The vedic Nasadiyastukta mainly deals with this type of thought:

1. Social
2. Philosophical
3, Historical
4. Political
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Original commentary text of the Yajurveda is :

1. Bhagawatgeeta
2. Samkhyakarika
3. I}-’Iﬁndakkopanigad
4. Satapatha Brahmana
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This word is used in Sankhyadarsana for Atma:

1. Vignana
2. Jiva
3. Purusa
4. Brhma
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These are mainly worshiped in the Dadalaksana festival :

. Four manhood

. Four kinds of charity

. Ten qualities of soul

. Ten vows: 5 Housecholders and 5 monks vows
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Dasavaikalikasatra was written by:

1. Sivarya

2. Yativrasabha
3. Sayyarhbhava
4. Yodovijaya
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According to Jainism, the Supreme knowledge is:

. Srutajfiana

. Matijfiana

. Kevalajhana

. Vibhalgajfiana
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Vastupila - Tejpala, were supporters in the construction of Jain temples at:

1. Ranakpur Jain Temples
2. Khajurdho Jain Temples
3. Delawara Jain Temples
4. Sravanabelagola Jain Temples
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In this age Gautam Siddharth left his home:
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Which group of the following texts khuddaknikaya is not correct?

. Itivuttaka, Suttanipata, Petavatthu, Buddha-varhsa
. Jataka, Theragatha, Parivara, Mahaniddesa

. Dhammapada, Udana, Therigatha, Cariyapitaka

. Khuddakapatha, Udana, Itivuttaka, Jataka
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The sanchi stupas was built by-

1. Prasenajit
2. Ajatasatru
3. Kaniska
4. Asoka
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Atta dipo bhava' this statement is quoted in this text:

. Dhammapada

. Dhammasarmgant
. Dhatuvada

. Patimokkha
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Shema hear is the jewish name for the great confession of faith beginning with Hear, O Israel, Yahweh, our
God is one Yahweh". This is taken from this book:

. Genesis

. Deuteronomy
3. Leviticus
4. Mathew
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The colony of the Jewish people in Babiolonia was known as :

. Shekinah

. Ketubim

. Goliouth or 'Captivity’
. El Shadda
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The Greek translation of the jewish scriptures is known as:

. Pshitta

. Vulgata

3. Turgum

4. Septuagint
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Joshua, son of Sirach, composed the book commonly called as:

. Ecclesiasticus
. Habalkkalk
. Zephaniah

. Ecclesiastes
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This Christian saint is called "The apostle to the gentiles'

. St. Ambrose

. St. Jacob

. St. Paul

. St. Bartholomeo
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The last gospel of the new testament canon written around 100 A.D. is that of:

. St. Mathew
. S§t. John

. St. Mark

. §t. Thomas
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During the third century, two great schools of Christian thought and learning developed. They are at:

1. Celusia and Ctesiphon
2. Banaras and Kashmir
3. Leningrad and Petrograd
4. Anitioch and Alexandria
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Emperor Constantive summoned in 325 AD the ecumenical council of:

1. Nicea
2. Rome
3. Constantinople
4. Jerusalem
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The Shahnama is written by:

. Rudaki

. Firdausi

. Tabari

. Al Beruni
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The titles of Asadullah and Hayder have been attributed to:

Ali

. Umar

. Abu Baker
. Uthman
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Phophet Mahmmad received the first revelation of the Quran while meditating at:

1. Mount Thawr
2. Safa and Marwa
3. Medina
4. Mount Hira
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The great Mosque of Al-Mutawwagqil is located in the city:

. Basra

. Kufa

3. Samara

4. Baghdad
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Bani of the Person is compiled in guru Granth Sahib

. Bhagat Tulsidas

. Bagat Trilochan

. Bhai Gurdas

. Bhai Mani Singh
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The first Raga of Sri Guru Granth Sahib is :

. Aasa Raga

. Sri Raga

. Suhi Raga

. Parbhati Raga
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Datuji and Dasuji were the sons of:

. Guru Angad Devji
. Guru Amardas ji

. Guru Harrai ji

. Bhai Gurdita ji
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Chief Khalsa Diwan was founded in this year:

- 1872 CE.
. 1900 C.E.
. 1902 C.C.
AN ZCE:
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Read the following statements :

A. Tt is generally accepted that Shankaracharya was born in Kerala
B. Maharisi Dayananda has written the 'Geeta Rahasya'

C. The Bhagawat Gita is a part of the Bhismaparva of Mahabharata
D. Chaitanya Mahaprabhu was propagator of $akya System

Choose the most appropriate answer from the options given below:

1. Aand C only
2. B and A only
3. Cand D only
4. D and A only
1)
(2)
(3)
(4)
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Identify the two sections / groups of the Jewish community:

A, Catholics
B. Pharisees
C. Gentiles
D. Sadducees
E. Protestants

Choose the most appropriate answer from the options given below:

A and B only
.B and C only
.Band D only
.Dand E only

[

I Y

(1)
(2)
(3)
(4)

A W N =




T WL Fa¥ N

ifdrd o ggal 99&R < &l avll 9ug! ! [Fgifed Bifer -
A HUifers
B. B
C. Sielgad
D. Jgdi
E.Ulcecd

i feu U [deedl § O U5l 3= &1 99 S :

1. %ad A 3R B
2. HaAB IR C
3.%dd B AR D
4. FPaAD ARE

1 1

) 2

@3) 3

(4) 4

1[Option ID=15165]

2[Option ID=15166]

3[Option ID=15167]
4[Option ID=15168]

Sl. No.43
QBID:162043

Among the following identify non prophetic faiths:

A, Tudaism
B. Hinduism
C. Jainism

D. Buddhism
E. Christianity

Choose the correct answer from the options given below:

. A, B and C only
. A, CandE only
.B. Cand D only
.C.D and E only
(1) 1
(2) 2
3) 3
(4) 4

IR TRURT ¥ gk Hd &1 UgdI-u -

A. UgaryH
B. fggud
C. Sy

D. drgyH

E. g4lged
= fau U fasedl o ¥ g9 Sugad SR &1 994 DI :

1.PAA A, B, C
2. $ad A, C,E
3.%4dd B, C,D
4.9ddC, D, E

(1 1

(2) 2

3) 3

(4) 4

B R

1[Option ID=15169]
2[Option ID=15170]
3[Option ID=15171]
4[Option ID=15172]

Sl. No.44
QBID:162044




Among the following identify the approaches to the study of region of E.B. Taylor, E. Durkhein and 8. Freud

A. Philosophy

B. Anthropological
C. Sociological

D. Ontological

E. Psychological

Choose the most appropriate answer from the options given below:

. A, B and C only
.B. Cand E only
.B. Cand D only
.C.D and E only
1 1
) 2
3) 3
(4) 4

[gifrd & 3 dl.CeR, 3. gRdH SR TH.I51S gRT IEd oH-s1erg- &1 fgifdd Pifo -

A, TR
B. J-faxmt
C. JHOIYREY

D. I
E.

B I

Hi2 fdu T famedl § 9 998 Sugad SR BT 99 Do :

1.$add A, B, C
2.$ddB,C,E
3.%dd B, C,D
4.9dd C, D, E

(1 1

(2) 2

3) 3

(4) 4

1[Option ID=15173]

2[Option ID=15174]

3[Option ID=15175]
4[Option ID=15176]

Sl. No.45
QBID:162045

Arnold Van Gennep's theory of rites of the passage identifies the following rules that are common in all rituals

A. Separation

B. Information

C. Transformation
D. Re-creation

E. Co-operation.

Choose the correct answer from the options given below:

A, Cand D only
.B.Cand E only
.A, Cand E only
.C. B and D only
1)1
(2) 2
3) 3
(4) 4

O R




;ﬁﬁ'%ﬁ{ﬂﬁa%m"lqﬂw R ¥ FHifed Fanl @1 ugdr &1 715 & o 92t gFl ¥ 3yg-g 8ld
A. JUEHII
B. Y
C. =U-gRad

D. TAo
E. 8l

i fEu U f[d@edl § O Ugl 3U= &1 944 P9 :

1.Pad A, C.D
2.$4dB,C,E
3. FAATA.C.E
4.94ddC,B,D

(1 1

(2) 2

(3) 3

(4) 4

1[Option ID=15177]
2[Option ID=15178]
3[Option ID=15179]
4[Option ID=15180]

Sl. No.46
QBID:162046

Find out correct combinations:

A. Phenomenology of religion — E.B. Taylor
B. Sociology of religion — Max-Weber

C. History of Religion — D.T. Suzuki

D. Psychology of religion — Carl Jung

E. Anthropology of religion — J.G. Frazer

Choose the most appropriate answer from the options given below:

. A, CandD only
.B. C and D only
.B.Dand E only
.B.Cand E only
(1) 1
(2) 2
(3) 3
(4) 4

el g F1d BTy -

A. BAEAENT AT Refio-3 &8 eaer
B. Tif¥reiarel 3w Rdio-Hag aar
c. [5¥t e Refior-S1.81. goo!

D. GEadian 3w Refe-ard o

E. TU@rstt 3T ffie o off, wer

i feu U f[d@edl | U 9l 3= &1 94 S :

1.Pad A, C.D
2.$4ad B, C.D
3. $9dB,D,E
4. 9dd B, C,E

1) 1
(2) 2
(3) 3
(4) 4

B R

1[Option ID=15181]
2[Option ID=15182]
3[Option ID=15183]
4[Option ID=15184]

Sl. No.47
QBID:162047




Find out the correct combination:

A. Religion is the opium of the people — Karl Marx

B. Religion iz belief in spirits — E.B. Taylor

C. Religion is belief in Totem — Max-Weber

D. Religion is non-rational phenomenon — Rudolf Otto

E. Religion is an ultimate concern of being — Paul Tillich.

Choose the correct answer from the options given below:

1. A. B and C only
2.B.Cand D only
3.A.Dand E only
4.C.D and E only
(1)
(2)
(3)
(4)

SR EEIREEIEE

A. 95 a1 & AU @i § - Sraaey
B. y¥ offarey § fayr € - 36t ereR
c.yf elen ¥ Ay § - Te-aW

D. ¥ IRAIEH INTcT § - TSIew 3ilel
E. y ofiai @1 sifqw @en & - uiq fefem

i iU U [dF el O O Ugl 3R &1 999 $io -

1.Pad A, B, C
2.$4dd B, C.D
3. $Add A, D, E
4.9dd C,D,E

(1 1

(2) 2

(3) 3

(4) 4

H W N R

1[Option ID=15185]
2[Option ID=15186]
3[Option ID=15187]
4[Option ID=15188]

Sl. No.48
QBID:162048

Read the following statements :

A. Upanisadas are also known as "Vedanta'

B. Carvaka-darsana is orthodox philosopical system

C. In the view of Acarya Sankara the Brahma is not qualitiless and formless
D. Sankhya and Mimansa systems do not believe in God

E. Philosopher Keshava Mishra is a writer of the Sarvadarshana - Sarigrah.

Choose the correct answer from the options given below:

1. B and D only
2. Aand C only
3. Aand D only
4.D and E only
€h)
2
3
@)

A W N R




fFafefad Byl @1 ufgy @ik

A. 3UAYEl & e W FeT T g |

B. d1aid 2ufF anfEs 2= g |

C. eI RN 3 7 H 5 Ffor ofR FRIeR e |
D. i 3R Higiar g2 aFRaci € |

E. JdcR-9U8 SN-e SRy FTIUT |

i feu U [deedl 1 O 95l 3 &1 99 Sl :

1.%aa@ B 3R D
2. HATAIRC
3.%dd A 3R D
4. FPaAD IRE

1 1

) 2

3) 3

(4) 4

1[Option ID=15189]
2[Option ID=15190]
3[Option ID=15191]
4[Option ID=15192]

Sl. No.49
QBID:162049

Read the following statements :

A. Total number of Hindu Puranas is seven

B. 'Vanaprastha Asrama' is prescribed in Hinduism

C. Raja Rammohan Roy has originated the Bhakti Movement

D. Swami Vivekananda was associated with Ramakrishna Mission
E. Poet of Ramayana is also known as 'Adikavi'.

Choose the correct answer from the options given below:

A. Cand D only
B. D and E only
C.D and E only
A,.Band D only

oo el

1) 1
(2) 2
(3) 3
(4) 4

fgifera syl &1 ufgu 3k

A R RO @ o g ad e |
B.Wﬁﬂ%ﬂ%ﬁﬂﬁﬁﬁﬂﬁﬂﬁl

C. ACRTHHTGT I 7 Higd-3T<Ia @ YR fbar o |
D. IqH1 fqqhT< BT Jra=] IO J 4T |

E. IAAY & Hia I enfeaia FAH I TH A E |

2 feu U fapedi O 9 I8! 3R &1 904 SIfo -

1. HAT A, C R D
2. Had B, D HRE
3.%dd C, D IRE
4. Fad A, B 3R D

1

) 2

3) 3

(4) 4

1[Option ID=15193]
2[Option ID=15194]
3[Option ID=15195]
4[Option ID=15196]

Sl. No.50
QBID:162050




Identify the elements according to Jainism:

A. Jiva

B. Asrava
C. Syadvada
B AkBG

E. Nirjara

Choose the correct answer from the options given below:

1. B, C and E only
2.C,Dand E only
3. A.BandE only
4. A, CandD only

1) 1

(2 2

(3) 3

(4) 4

SeT & IER Tl Bl TeaI -

A. oI
B. 3THd
C. ™gIe

D. HDIR
E. fAoR

i feu U [deedl § O U5l 3= &1 99 S :

1[Option ID=15197]
2[Option ID=15198]
3[Option ID=15199]
4[Option ID=15200]

Sl. No.51
QBID:162051

Read the following and identify the types of knowledge in Jains tradition

A. Avagraha
B. Avaya

C. Artha

D. Avadhi
E. Aniyati

Choose the correct answer from the options given below:

.C.D and E only
.B.Cand E only
.A, Cand D only
A.Band D only

e L b o

1) 1
) 2
3) 3
(4) 4




AR @l ue iR SFRIRIER JH P Ual &1 UgdH S -

A 3{d¥Ug
B. 3d
c. 3y

D. 3{afg
E. Jfafa

i feu U [deedl § O U5l 3= &1 99 S :

1.$aq C, DIARE
2. Hdd B, C 3R E
3.PAAA, C 3RD
4. FadA, B IR D

1 1

2 2

3) 3

(4) 4

1[Option ID=15201]
2[Option ID=15202]
3[Option ID=15203]
4[Option ID=15204]

Sl. No.52
QBID:162052

Read the following statements :

A. Jainism believes in God

B. The last vacana on Prakrit Canons held at Vallabh:
C. According to Jainism after death there is no soul
D. The theory of Karma is accepted in Jainism

E. Mahavira propagated the Paiicayama Religion.

Choose the most appropriate answer from the options given below:

1. A, CandE only
2.B.Dand E only
3. C and D only
4. B and C only
(1
(2) 2
(3) 3
(4) 4

frafetad Pyl prufeu -

A. SFTEH SR OR fAy Far 8

B. Wgd FTHI $t 3if<1d ara=n gea i 5 g5 of |

c. o & T & 18 AT F1 3&Ta 781 ¢ |
D. o d o g A g |

E. HeTdR 7 T9ram 4¥ &1 WER & |

e ST 7T faedl § 9 9a8 SUgad IOk B1 99 PifoIg :

1.Pad A, C ARE
2.%ad B,D IR E
3.%ad C AR D
4. FPaAB AR C

1) 1

) 2

@3) 3

(4) 4

1[Option ID=15205]
2[Option ID=15206]




3[Option ID=15207]
4[Option ID=15208]

Sl. No.53
QBID:162053

These are called 'Tri Sarana’ in Buddhism.

A. Sarhgha
B. Sraddha
C. Dharma
D. Pragrabdhi
E. Buddha

Choose the correct answer from the options given below.

.Aand B only
.B. Cand D only
A, CandE only
.Band D only
(1) 1

(2) 2

(3) 3

(4) 4

digyd H g BrERmr $gd ¥ :

A.TY
B. &l
c.gd
D. WY&

E. g%
Hia fdu e fasedl § 9 998 Sugad SOk BT 99 Difold :

1. Paqd A RB
2.Had B, C 3IRD
3.PAAA, C 3RE
4.%ad B ARD

11

) 2

(3) 3

(4) 4

U FUR S

1[Option ID=15209]
2[Option ID=15210]
3[Option ID=15211]
4[Option ID=15212]

Sl. No.54
QBID:162054

These texts are included in the Vaipulyasitras:

A. Samadhiraja

B. Shikshasamuccaya
C. Ratnaval:

D. Mahavastu

E. Suvarnaprabhasa

Choose the most appropriate answer from the options given below:

1. A and C only
2.B, Cand D only
3. Aand D only
4. A and E only
11
) 2
3) 3
(4) 4




1[Option ID=15213]
2[Option ID=15214]
3[Option ID=15215]
4[Option ID=15216]

Sl. No.55
QBID:162055

These were the great leaders of the Jewish community.

A Moses

B. St. Augustine

C. St. Bernard

D. St. Thomas Aquinas
E. David

Choose the correct answer from the options given below:

A and B only
.B and C only
.Dand E only
.Aand E only
1)1
(2) 2
3) 3
(4) 4

4 ggdl 9HEE & Hel AT Y

A ORS

B. Ic 3TReEA

c. e wts

D. de UIoYg Ushed
E.Sfds

i fau U faedl T 9§ I8! 3Tk 1 90 DI :

[N VR S

1[Option ID=15217]
2[Option ID=15218]
3[Option ID=15219]
4[Option ID=15220]

Sl. No.56
QBID:162056




These are the two Talmuds:

A Antiochean
B. Alexandarian
C. Palestinian
D. Armenian

E. Babylonian

Choose the correct answer from the options given below:

A and B only
.B and C only
. Cand D only
.Cand E only
1 1
) 2
(3) 3
(4) 4

JE A & :

IS FURN S

i feu U [aeedl § O Uel 3U= &1 94 B9 :
1. Paqd A NRB

1[Option ID=15221]
2[Option ID=15222]
3[Option ID=15223]
4[Option ID=15224]

Sl. No.57
QBID:162057

The Jerusalem temple was destroyed twice in 590 BC and 70 AD respectively by

A. The Greeks

B. Nebuchadnezar
C. Persians

D. Indians

E. The Romans

Choose the correct answer from the options given below:

A and B only
.B and E only
. C and D only
.Dand E only
1)1
(2) 2
3) 3
(4) 4

S PO .




SEgY TR HieR 1 &1 §R HRE: 500 $HIYd SR 700 SHA! 1, S gRI @% (a1 711 o -

A TR
B. 9g@g 7o)
C. BRE!
D. YR
E. Tt
i feu U [deedl § O U5l 3= &1 99 S :

1. %ad A 3R B
2. Had B IR E
3.%dd C IR D
4. FPaAD IRE

1 1

) 2

3) 3

(4) 4

1[Option ID=15225]
2[Option ID=15226]
3[Option ID=15227]
4[Option ID=15228]

SI. No.58
QBID:162058

Identify the apoeryphal/deuterocanonical books:

A Tobit

B. Mathew
C. Judith

D. Revelation
E. Esther

Choose the correct answer from the options given below:

A, B and C only
.A,CandE only
.B. Cand D only
.C.Dand E only
1)1
(2) 2
3) 3
(4) 4

AT fedige YIS YUl & 9edH -

A.Tlfge

B. ]
C.5[1SY
D. RatagH
E. SRR

i fau U faedl T 9§ I8! 3Tk 1 90 DI :

1. PaAA, B AR C
2. Pad A, C HRE
3. $ad B, C3ARD
4.HadC, D IARE

1) 1

) 2

3) 3

(4) 4

[N VR S

1[Option ID=15229]
2[Option ID=15230]
3[Option ID=15231]
4[Option ID=15232]

Sl. No.59
QBID:162059




Identify the books of Torah from these :

A Genesis
B. Exodus

C. Chronicles
D. Malachi
E. Hosea

Choose the correct answer from the options given below:

A and B only
. C and D only
.Dand E only
.Cand E only
1 1
2) 2
(3) 3
(4) 4

dRTE B Y&Ih! &1 Ugd BIfold :

A. SR
B. Tqlie
C. BIdwed
D. qarat
E. giferan

i iU U [dF el O O Ugl 3R &1 999 $io -

1. Had A IR B
2. HadAC ARD
3.%dd D ARE
4. Fad C ARE

1 1

) 2

@3) 3

(4) 4

ol o Mt

1[Option ID=15233]
2[Option ID=15234]
3[Option ID=15235]
4[Option ID=15236]

Sl. No.60
QBID:162060

Allama Igbal studied at following educational institutions:

A. Govt. College, Lahore

B. University of Cambridge

C. University of Munich

D. Aligarh Muslim University (AMU)
E. University of Allahabad.

Choose the correct answer from the options given below:

.A.D and E only
.A.Band E only
. A, B and C only
A. Cand D only

e L b o~

1) 1
) 2
3) 3
(4) 4




SHTATH SPhard - Ffaiad Sifte SREl S i fparur s

A. TP DI, AER

B. ditsio fayfaee™

c. Fgf-@ fayfdenay

D. 3diiTg gian fayfaeme
E. gagrars fayfaemad

i feu U [deedl § O U5l 3= &1 99 S :

1.$dd A, D 3IRE
2. HaT A, BIHRE
3. %A A, B IR C
4. FaAA, C 3R D

1 1

) 2

3) 3

(4) 4

1[Option ID=15237]
2[Option ID=15238]
3[Option ID=15239]
4[Option ID=15240]

Sl. No.61
QBID:162061

Umar Khayyam was a:

A. Mathematician
B. Physician

C. Caligrapher
D. Poet

E. Musician

Choose the correct answer from the options given below:

.A, B and C only
.Aand C only
.Aand D only
.B. C and D only
1)1

(2) 2

(3) 3

(4) 4

IR 9 :

A. TGS
B. fafdw®
C. G4 (OEHR)
D. &l
E. JAiiaq
i feu U [deedl § O Ugl 3R &1 99 S :

1.Pad A, B AR C
2. HAT AR C
3.%dd A 3R D
4.FadB, C IRD

1 1

) 2

3) 3

(4) 4

W b

1[Option ID=15241]
2[Option ID=15242]
3[Option ID=15243]
4[Option ID=15244]

Sl. No.62
QBID:162062




Ahl-e-al Kitab (people of the book) refers to:

A Jeers

B. Zoroastrians
C. Christians
D. Hindus

E. Sikhs

Choose the correct answer from the options given below:

Aand D only
.Aand C only
.Band D only
.Cand D only
1 1
2) 2
(3) 3
(4) 4

3ET-U-3q e (T ard T 319 Faifra &
A TGl
S fark
D.feg
E. forat

e S

i feu U [aeedl § O Uel 3U= &1 94 B9 :
1. HaTAARD

1[Option ID=15245]
2[Option ID=15246]
3[Option ID=15247]
4[Option ID=15248]

Sl. No.63
QBID:162063

Arrange the correct events related to Guru Tegh Bahadur in a chronologically (earlier to latest) order

A. Birth of Guru Tegh Bahadur at Amritsar
B. Guru Gaddi at Baba Bakala

C. Martyrdom in Delhi

D. Visit to Mecca

E. Visit to Lahore.

Choose the correct answer from the options given below:

.A.Band E only
.B. C and D only
. A, B and C only
.A,Dand C only
1)1
(2) 2
(3) 3
(4) 4

I PR




TRATEEIER I HelUd Fel 9131l 1 HIeh HI-HR gaieyd BTy (H=HaH I =)

A. 0T §8TER BT AR 1 &7
B. S141 §&HTal H RATe] BT AT
C. el ® 2rerad g

D. HFDT-YHUI

E. AR R-YHUI
Hi= fidu T famedl § 9 99 SUgdd SR BT 99 DI :

1.PaT A, B, E
2.$4ad B, C.D
3. HAATA, B, C
4. 940 A, D, C

(1 1

) 2

3) 3

(4) 4

1[Option ID=15249]
2[Option ID=15250]
3[Option ID=15251]
4[Option ID=15252]

Sl. No.64
QBID:162064

Find out the Bani of Guru Nanak Devji from the following :

A. Jai Tou Parem Khaylan kaa chaao, Sir dhar talee galee mayree aso.
B. Nanga dojakh chhalia taa disackharaa daraavna

C. Sooch hove tan sach paeaye

D. Soora so pehchaniye jo lareh deenke hait

E. Dookh rog santap utre suni sachibani

Choose the correct answer from the options given below:

A, B and C only
.B. C and D only
.B.Cand E only
.A, Cand D only
(1) 1
(2) 2
3) 3
(4) 4

AfRId H T 2D Sdoll df aTut T Ol TSy -

A T U9 ETH S =nel, R o= adt et 311 33 |
B. =TI &lord dTedT of fisy =1 3-IaA

C. g Bid a1 99 U5

D. I ! YeAI-E Sl ag & & &

E. 3@ 37 Had Iax A1 T=if aroit

Hi= fidu T famedl § 9 99 SUgdd SR BT 99 DI :

1. $dd A, B, C
2.%ad B, C.D
3. %4dB,C,E
4.PAd A, C,D

11

) 2

3) 3

(4) 4

B B

1[Option ID=15253]
2[Option ID=15254]
3[Option ID=15255]
4[Option ID=15256]

Sl. No.65
QBID:162065




Find out the Banies of Guru Arjan Dev compiled in Guru Gir Sahib out of the following :

A. Gunwanti

B. Barahmah Rag Tukhari
C. Funeh

D. Jaitsari di var

E. Kuchaji

Choose the correct answer from the options given below:

1.B. Cand D only
2. A, Cand D only
3.C.Dand E only
4. A, B and D only

1 1

2) 2

3) 3

(4) 4

T UY IR T epferd % 3ol 4d &1 arfurl @i FafaRad o 9 sargy :
A T[UTG !

B. §REHIE I ORI

gig—i‘tﬁﬁm
E. Fol

Hi2 fdu T famedl § 9 998 Sugad SR BT 99 Do :
1.$4d B, C. D

1[Option ID=15257]
2[Option ID=15258]
3[Option ID=15259]
4[Option ID=15260]

Sl. No.66
QBID:162066

Match List T with List IT

LIST I (Author) LIST II (Book)

. |[William James | I. [[ and Thou

IVartin Buber | II. |The Sacred and the Profane

IVircea Eliade | I |The varieties of Religious Experience|
_ |Peter Benger | IV. |The Sacred Canopy

o|e|w|s

Choose the correct answer from the options given below:

. A-IL, B-IIL, C-I, D-IV
. A-IIL, B-1, C-II, D-IV
. AT, B, G-I, DIV
. A-IV, B-I, C-III, D-II
(1 1
) 2
3) 3
(4) 4

[

a2




Gl 1 PTG 11 9 A Bifog

T 1 (@E®) T 11 (T5)
. L [3S ws o8
Jaidagar | 1 [a Sshs uus & it

] 111 [& a¥Eeie HI% Ricforay uaquiieey
g EmR IV. [ T5p g doul

R fawedl O T gt IR &1 90 DI :

. A-IL, B-IIL, C-I, D-IV
. A-IIL, B-1, C-II, D-IV
. A-I, BII, C-II, D-IV
. A-IV, B-I, C-III, D-II
(1) 1
) 2
3) 3
(4) 4

%
3

1

e

1[Option ID=15261]
2[Option ID=15262]
3[Option ID=15263]
4[Option ID=15264]

Sl. No.67
QBID:162067

Match List T with List IT

LIST I (Concept) LIST II (Thinker)

A JAnimism I. [EB. Tavlor

B. Magic 11. |Arnold Van Gennep
C. |Totem III. [F.G. Frazer

D. |Rites of Passage] IV, [Emile Durkheim

Choose the correct answer from the options given below:

. A-I, B-II, C-III, D-IV
. A-I, B-IV, C-III, D-II
. A-I, B-III, C-IV, D-II
. A-I, B-IV, C-II, D-III
(1 1
(2) 2
3) 3
(4) 4

il 1 T G=I 11 T [0 Do -

T 1 (SEURUM 1 ()
A [Sfiareme I g4l R

B [org 1L |HHIcS d o=y
C. [eem IIL. [T &l Thel
D

_[oita O Seer| IV [paRd gan
fafeRad faepedl § 1 Tel SR &1 98- Pifuy :

. A-I, B-IIL, C-III, D-IV
. A-I, B-IV, C-III, D-II
. A-I, B-TII, C-TV, D-II
. A-I, B-IV, C-II, D-TII
1) 1
() 2
(3) 3
(a) 4

[

W

b2 =

e

1[Option ID=15265]
2[Option ID=15266]
3[Option ID=15267]
4[Option ID=15268]

Sl. No.68
QBID:162068




Match List I with List IT

LIST I (Author) LIST II (Book)
A [EB. Taylor I |Protestant Ethics and the Spirit of Capitalism|
B. |Sigmund Freud I1. |The Concept of Dread
C. Max Weber III. |Primitive Culture
D. |Soren Kierkegaard| IV. |The Future of an Illusion

Choose the correct answer from the options given below:

. A-IIL, B-IV, C-1, D-II
. A-IIL, B-IL, C-I, D-IV
A-IIL, B-I, C-IV, D-II
A-IIL, B-1, C-II, D-IV

b

da L

1) 1
) 2
3) 3
(4) 4

Gl 1 T = 11 9 e s -

T 1 () Tl 11 (D)

gdl. e L [UISE e Uy UUs ¢ RURT 3B $iuciied
Rrds was | 1 g &dv 3w o8

EEGKECH 1L [iHifed doak

_ [GIA TS | IV [& TR 31 U 3o

frafafad faeeal & 9 96l SR o1 901 PIfoTe -

A-IIL, B-IV, C-I, D-II
. AL B-IL, C-I, D-IV
. A-IIL, B-1, C-IV, D-II
. A-IIL, B-1, C-II, D-IV
(11
(2) 2
3) 3
(4) 4

ola|w|s

b2 =

d Taa

1[Option ID=15269]
2[Option ID=15270]
3[Option ID=15271]
4[Option ID=15272]

Sl. No.69
QBID:162069

Match List I with List IT

LIST 1 LISTII
. |Sankarabhasva I |19th centurv CE
[F.g veda II. |pth century B.C.

. |Satyartha Prakasa |IIL |8th century CE.
|Valmiki Ramayana| IV. |1 5th Century B.C|

w] [o] fo] b3

Choose the correct answer from the options given below:

1. A-I, B-III, C-II, D-IV
2. A-II1. B-1V, C-I, D-II
3. A-IV, B-11, C-II1, D-1I
4. A-1I, B-1, C-1I1, D-IV

1) 1

(2) 2

3) 3

(4) 4




Tl 1 T Y= 11 9 e i .

T 1 T 11
i HTS 1 |19df 351 oel
EROT 1L [5df Surud Tal
BE 111 |dl 551 9

_ [areitE] v [isdt g

frafefad faeeal # 9 el S o1 901 PifoTe -

A-I, B-III, C-II, D-IV
A-IIL, B-IV, C-I, D-II
. A-IV, B-II, C-III, D-I
. AL, B-1, C-III, D-IV
(1) 1
) 2
3) 3
(4) 4

o|a|w|x=

e T b2

1[Option ID=15273]
2[Option ID=15274]
3[Option ID=15275]
4[Option ID=15276]

Sl. No.70
QBID:162070

Match List I with List IT

LISTI | LIST II
. [Prameyakamala Martandd I [Akalanka ﬁacér_\'a
. |Tattvarthardjavartika 1I. [Hartbhadrasuri
Sad darsana Samuccaya | III |[Yasovyjava
. |Tarkabhasa IV. [Prabhachandra

] Fo] [o=1 =3

Choose the correct answer from the options given below:

1. A-TII, B-1V, C-11, D-1
2. A-II, B-III, C-IV, D-1
3. A-IV, B-L, C-1I, D-III
4. A-1V, B-1II, C-I, D-II

1) 1

(2) 2

(3) 3

(4) 4

el 1T =t 11 9 forer Bifore -
1 gt I

A [rHgea Arqus] 1 [srad® smEd
B [qariearas | 1 [plevsgl
[TSeRTa=y | 111 [gRiifae™

C.
D. [dHTHT V. [HEs
FafdaRad [depedl § 9 T8l 3R &1 98- Hiloy :

. A-IIL, B-1V, C-II, D-I
. A-IL, B-TII, C-IV, D-I

ks =

3. A-IV, B-1, C-II, D-III
4. A-IV, B-IL, C-1, D-II
(1 1
(2) 2
3) 3
(4) 4

1[Option ID=15277]
2[Option ID=15278]
3[Option ID=15279]
4[Option ID=15280]

Sl. No.71
QBID:162071




Match List I with List IT

LISTI LISTII
A |Yogasataka I |Asarhga
B. |Pramanasamuccava II. |Nagarjuna
C. |Saptagunaparivarnand | III. |Difindga
D.

IAbhidharmasamuccaval IV. [Vasubandhu

Choose the correct answer from the options given below:

. A-L B-II, C-IIL, D-IV
CA-IIL B-IV, C-1. D-II
CA-TL B-III, C-TIV, D-I
. A-IV, B-1, C-II, D-III
1) 1
2) 2
(3) 3
(4) 4

T 1 &1 94l 1 ¥ e $ifo :
T I T 1
] T

CEEED L
AT | 10 [ArTed
 [aeonafani] . fiesam
_ [eivuH e [ 1V [agesy

fFHfeiRad fadeul H 9 Ugl 3R &l 94 HIfoIu -

. A-L B-II, C-IIL D-IV
. A-IIL, B-IV, C-1, D-II
- A-II, B-TII, C-1IV, D-1
. A-IV, B-1, C-1I, D-IIT

W

olo|w|x

B A T

(1)
(2)
(3)
(4)

D W N R

1[Option ID=15281]
2[Option ID=15282]
3[Option ID=15283]
4[Option ID=15284]

Sl. No.72
QBID:162072

Match List T with List IT

LISTI LIST II
A |Song of Songs | [ |Angel Raphael
B. |lsiah II. [Prophet
C. |Tobit ITT. [Solemon
D. Pudith IV [Killing of Holofernes

Choose the correct answer from the options given below:

. A-I, B-II, C-III, D-IV
. A-IL, B-TIL, C-IV, D-I
. A-IIL, B-IL, C-1, D-IV
. A-IV, B-III, C-1I, D-I

e L b2

1)
(2)
(3)
(4)

H W N R




Gl 1 S 1Y el 11 1 FHe ST .
T 1 T 10

1T 1% G| 1L [ A
HEEH I [O7is

SIIER 111 [T

BER] IV. [EIeH -9 &1 5|

frafefad faeeal # 9 el S o1 901 PifoTe -

A-, B-II, C-IIL, D-IV
A-IL, B-IL, C-IV, D-I
. AL B-IL, C-I, D-IV
. A-IV, B-III, C-1I, D-I
(1) 1
) 2
3) 3
(4) 4

ofo|w|s

e T b2

1[Option ID=15285]
2[Option ID=15286]
3[Option ID=15287]
4[Option ID=15288]

Sl. No.73
QBID:162073

Match List T with List IT

LISTI LISTII
St. Francis Xavier I. |Bharanafiganaim
St. Thomas the Apostle] I1. [Kolkata
St. Mother Theresa 1. |Goa
St. Alphonsa IV. Mylapore

ofa[w]

Choose the correct answer from the options given below:

. A-IIL, B-IV, C-II, D-I
. A-I, B-II, C-III, D-IV
. AL, B-IIL, C-IV, D-I
. A-IIL, B-1V, C-1, D-II
1) 1
) 2
(3) 3
(4) 4

el 1 1 =1 11 9 forer Bifore -
1 T I

. [gue witg Siflgme | 1 R
[HUZ Y1Ag § U0 1L [Blasd
[€0e HEz <X il Qi)

. [9U€ Al IV. [HIgage

fFafdaRad [deedl § 9 98l 3R &1 98- Sl -

. A-IIL, B-1V, C-II, D-I
. A-I, B-II, C-III, D-IV
. A-II, B-III, C-IV, D-I
. A-IIL, B-IV, C-I, D-II
(1) 1
(2) 2
(3) 3
(a) 4

B B

olo|w|=

b =

IS 51

1[Option ID=15289]
2[Option ID=15290]
3[Option ID=15291]
4[Option ID=15292]

Sl. No.74
QBID:162074




Match List I with List IT

LISTI LIST II
[Harun al Rashid| [ |Avubios
Abdul al Malik | II. [Umayvads
Saladin I1T. |Abassids
Suletman IV, |Ottomans

o|ofw|

Choose the correct answer from the options given below.

. AL, B-TIL, C-I, D-IV
. A-IIL, B-IL, C-I, D-IV
A-IIL, B-II, C-IV, D-I
A-, B-II, C-IIL, D-IV

b

da L

1) 1
) 2
3) 3
(4) 4

gl 1 T =1 11 9 i o -

T 1 Tt 11
Ered 2@ i | 1 Jorie 9w
Hega d Hidd| 11 [3H%E GHTd
ERIEE] I11. [3feardl O]
N EGEE 1V [3{ieH= "rEry

frafafad faeeal & 9 96l SR o1 901 PIfoTe -

A-IL, B-IL, C-1, D-IV
. AL B-IL, C-I, D-IV
. A-IIL, B-1I, C-IV, D-I
. A-I, B-IL, C-III, D-IV
11
(2) 2
3) 3
(4) 4

o|a|w|x

b2 =

d Taa

1[Option ID=15293]
2[Option ID=15294]
3[Option ID=15295]
4[Option ID=15296]

Sl. No.75
QBID:162075

Match List T with List IT

LISTI LISTII
. Manji Tradition 1. |Guru Hargobind|
IVasand Tradition II. |Guru Amardas

[Alzal takhat establishment II1. [Banda Bahadur
[*! Sikh capital establishment| IV. [Guru Ramdas

ole|w|s

Choose the correct answer from the options given below:

. A1, B-IIL, C-IIIL, D-IV
. A-II, B-IV, C-1, D-III
. A-IV, B-II, C-I, D-III
. A-IL, B-1, C-III, D-IV
(1 1
(2) 2
3) 3
(4) 4

Wbk

e




Gl 1 PTG 11 9 e ifo -
T 1 Tt 10

[F5il URORT I [ gaiidg
[Fde IO 1L [T% 3G
3T Tied P RITTT 111 [T 98lgd
. [pus T s @ g1 V.S ImerE

frafefad faeeal # 9 el S o1 901 PifoTe -

. A-I, B-II, C-III, D-IV
. A-IL, B-IV, C-1, D-III
. A-IV, B-IL, C-1, D-III
. AL, B-1, C-IIL, D-IV
(11
) 2
3) 3
(4) 4

o|a|w|x=

e T b2

1[Option ID=15297]
2[Option ID=15298]
3[Option ID=15299]
4[Option ID=15300]

Sl. No.76
QBID:162076

Find out correct chronological sequence on the basis of publication year of following books

A. Elementary Forms of the Religious life
B. Primitive Culture

C. The Varieties of Religious Experience
D. The Myth of the Eternal Return

E. Problems of Religious Pluralism.

Choose the correct answer from the options given below:

B AD,C.E

) 4
FHifhd Jie! & YbIH oY & SR U Hel Plashd Pl [Fgifed Hifeig :
A. TRIES BIRf sife Rfvsiay ase
B. fiftfed PR
C. & R 3w Relforag uerdiiveg

D. g iy 3% g Sea fed
E. W&y 3i10 Refiorgs wRieres

Hi2 fdu T faedl § 9§ 999 SUgad SOk B1 99 Bl :

L 3 e
Foop

Pl =
FFOPQ
S0wn
tf o b

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15301]
2[Option ID=15302]

3[Option ID=15303]
4[Option ID=15304]

Sl. No.77
QBID:162077




Identify the correct sequence of the origin of religions:

A. Christianity
B. Judaism

C. Animism
D. Sikhism

E. Islam

Choose the correct answer from the options given below:

B.C.A,E.D
A.B.D,C,E
C.B.A.E.D
B,A,E,.C.D

IS FURN S

(1) 1
(2) 2
(3) 3
(4) 4

ol &I 3¢H & Yol B P! fugifea sifou -
A. 29 ¥
B. dgal o
C. SilaTdmarg
D. forg yd
E. 3&H

i feu U A edl O T 9gl 3= &1 999 Pio -

B.C.AE.D

1.

2 A,
s o
4. B.

D‘»U:HJ:I
Mmoo
ﬁh‘jﬁ

;e
D
LD

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15305]
2[Option ID=15306]

3[Option ID=15307]
4[Option ID=15308]

Sl. No.78
QBID:162078

On the basis of James G. Frazer's theory, identify the process of evolution in faith.

A. Magic

B. Religion

C. Polytheism
D. Monotheism
E. Science

Choose the correct answer from the options given below:

1.B.A,C,D.E
2.C,A,B,D,E
3.D.A.B.C.E
4.A.C.D,B.E
(11
(2) 2
(3) 3
(a) 4




SR o, ThoRk & figid & SMUR U1 3 § 3fga™ & uhd ol Rgifed aifou -

ol
C. IPARARE

D. Uh%Ralg
E. fa3m

i feu U f[d@edl | U 9l 3= &1 94 S :

.B.A,C.D.E

1[Option ID=15309]
2[Option ID=15310]
3[Option ID=15311]
4[Option ID=15312]

Sl. No.79
QBID:162079

Arrange the following chronologically from earliest to later

A. Balagangadhara Tilaka
B. Raja Rama Mohan Roy
C. Dayananda Saraswati
D. Devendra Thakura

Choose the correct answer from the options given below:

1.A,CB,D
2.6 A, D.B
3.B.D,C.A
4.D,C,A,B

(1) 1

(2) 2

(3) 3

(4) 4

fHifed 1 PIRPIER TR ¥ <11 & 1 J Fafeyd 3 -

A. SIER fda®
B. JORMEHAETRE
C. ThI=e Sl
D. 3d=51Y BIHR

i fau U fadedl T 9§ I8! 3Tk &1 90 DI :

1.A.C,B.D
2. A BB
3.B.D.C.A
4.D,C,A,B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=15313]

2[Option ID=15314]

3[Option ID=15315]
4[Option ID=15316]

Sl. No.80
QBID:162080




Arrange the following Jain Arts Centres situated in various places, sequencing from Northern to Southern India

A. Kankate T1ta-Mathura

B. Statue of Gommatesa Bahuval; Shravanabelagola
C. The place of Salvation of Mahavira-Pavapuri

D. Caves of Ellora

E. Jain temples at Khajuraho

Choose the correct answer from the options given below:

1) 1
) 2
(3) 3
(4) 4

Fafafed 59 o Sl & R $1 3 ¥ 2o yRd T fd 81 & wiH 39 § oraiyd $ife -

A. DB CIA-HYRT

B. TIHIC STaa i yauearal
C. TETER P [HalUrye-urarg:|

D. TGRT &1 T[wT

E. @WoXIg] & ol AfdR

i fau U fadedl O 9 It 37k &1 98 I :

.C.A.E.D.B

]
2
L
_1

FB o
eBel g
W w
moo
Omm

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15317]
2[Option ID=15318]

3[Option ID=15319]
4[Option ID=15320]

Sl. No.81
QBID:162081

Arrange the following texts in chronological order (later to earlier period)

A, Pramanasamuccaya

B. Yuktisastika

C. Paficaskandhaprakarana
D. Sutrasamuccaya

E. Santanantarsiddhi

Choose the correct answer from the options given below:

DA, C,B.E

MW g
oMo
0w
npo
WO

1) 1
2) 2
(3) 3
(4) 4




feifeed Tl & PIAHHATTIR €18 I U™ & HH H oafeyd o -

A. AT
B. giINipeI
C. USRI
D. JFEE=Y
E. GaFRida
i feu U f[d@edl | U 9l 3= &1 94 S :

1[Option ID=15321]
2[Option ID=15322]
3[Option ID=15323]
4[Option ID=15324]

Sl. No.82
QBID:162082

Arrange the following chronologically from earlier to later:

A, Dawvid

B. Moses

C. Jacob

D. Issac

E. Abraham

Choose the correct answer from the options given below:

1.A.B,C,Dand E
2.B.C.D,Eand A
3.C,D,E,Aand B
4.E.D.C.BandA

1) 1

(2) 2

3) 3

(4) 4

FafeRad ©f Ui 9 Iea- & SIeshAI IR saieyd Hife :
A 3fds

iy
D. g4l
E. HdlgH

i fau U fad el T 9 I8t 37k &1 90 il :

JA.B,C,D3RE
.B.C.D,E3R A
.C,D,E.A3RB
.E.D.C.B 3R A
(1) 1
() 2
(3) 3
(4) 4

O B

1[Option ID=15325]
2[Option ID=15326]
3[Option ID=15327]
4[Option ID=15328]

Sl. No.83
QBID:162083




Arrange the following chronologically from earlier to later:

A. John the Baptist

B. Clement of Alexandria
C. Emperor Constantine
D. Augustine of Hippo

E. St. Anselm

Choose the correct answer from the options given below:

.A,B,C.D&E
.B.C.D.E&A
.C.D.E.A&B
.D,E.A.B&C
(11
) 2
3) 3
(4) 4

frafaf@d @ U= & sfed- & SIaPHHER ¢ ¥ oIafyd iy :
A.SF g qufew

B. =R & wiide
C . YT HiReCgT
p. BT & e
E. e tgay
2 fau U faedi O 9§ I8 3R &1 90 SIfo :

A ByC, DB

B R

1[Option ID=15329]
2[Option ID=15330]
3[Option ID=15331]
4[Option ID=15332]

Sl. No.84
QBID:162084

Arrange the following events related to Islam chronologically from earliest to later period.

A. Mamun Caliphate of Baghdad
B. Medina Caliphate

C. The birth of Prophet Muhammad
D. Abbassid Spanish Caliphate

E. Damascus Caliphate

Choose the correct answer from the options given below:

.B.D.A.CE
.C.BEAD
.D.C.AEB
AD.CEB

P S

1) 1
) 2
(3) 3
(4) 4




ST I Gaiyd FafaRad ge-si o1 UrHki-aH I S{Ed- & $hH H SIep A IR Adeyd By :

A. STTETE B HIHIRIATH
B. HEHE faamea

C. YTieR HEHIE B oA

D. 36T W ared

E. GHRDY RIdA®d

i feu U f[d@edl | U 9l 3= &1 94 S :

BDACE
.C.B.E.A,D

SN

.D.C,A.E.B
.A,D,C.E.B
1)1
(2) 2
(3) 3
(4) 4
1[Option ID=15333]
2[Option ID=15334]

3[Option ID=15335]
4[Option ID=15336]

Sl. No.85
QBID:162085

Arrange the following in a right sequence

A. Guru Nanak

B. Guru Har Rai
C. Guru Hargobind
D. Guru Amardas
E. Guru Arjan Dev

Choose the correct answer from the options given below:

ik
B m e
W gn

oo9npo
nonopeE

W w

1) 1
2) 2
(3) 3
(4) 4

afeRad o Fel 3y ° oaiyd Hifer :
AT AHS

B. ¥ & ™
C. 7% g&lfd=<

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15337]
2[Option ID=15338]

3[Option ID=15339]
4[Option ID=15340]

Sl. No.86
QBID:162086




Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Religious fundamentalism describes an approach calling for the literal interpretation of scriptures
and religious doctrines.

Reason R : Religious fundamentalists believe that only one view of the world is true.
In the light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. Ais true but R is false
4. A is false but R is true
1)1
(2) 2
3) 3
(4) 4

9 S BY AU U § : U@ SfUPHUT (Assertion A) & ¥ H Al & @l RT SUD PRI (Reason R) B
Wﬁf

ey A - uifife Hexdy & T8 3urH ot oorey &t Al & o et SR wnftfe Risia @
s fd=m foran o aféa g e |

BRI R : HTTHS HEULA! ST AT § [ OFd & §R & $Had TP ol DI ue! ¢ |
IURIGd HYH & 3l 4, i S0 T fab el § 3 |8l I &l 94+ DIfoft :

 ASRREHITIE SRR AT TR AT
AJRRIF I E, AR, A FT TEl ARATTET §
ATTE, Wi R 3T R
ASET R, AfPTRIAR

(1) 1
(2) 2
3) 3
(4) 4

B

1[Option ID=15341]
2[Option ID=15342]
3[Option ID=15343]
4[Option ID=15344]

Sl. No.87
QBID:162087

Given below are two statements:

Statement I: Pratyabhijhadaréana is related to Kashmir shaivism.

Statement II: Ramayana of Valmiki is divided into ten kdndas.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement I 1s incorrect
4. Statement I is incorrect but Statement II is correct

1) 1

2) 2

3) 3

(4) 4

kd =




19 3 Py feu U § - FEifed Syl 31 dfgu -
U1 - ARS8 & gra SR Aavd 98 |

HYA 1 : TS IHA0 § $d o HIUS § |
SWRIdd Y & el H, - iU Ty fadbeul § 3 968 Sugad STk &1 94 Biforg :

Y1 AR 1 S Tel §
Y1 AR 1T Tad &
FUFITE e, AT sy TEd §
. HYF 1 7Od §, AfT YT 1 Tel §

(1) 1
(2) 2
3) 3
(4) 4

T

1[Option ID=15345]
2[Option ID=15346]
3[Option ID=15347]
4[Option ID=15348]

Sl. No.88
QBID:162088

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Body and all other things are transient and person knows suffering.

Reazon R : Everything iz not in his control and person knows that all is non-ego (Anatt3)

In the light of the above statements, choose the correct answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. Ais correct but R is not correct
4. A is not correct but R is correct
(1) 1
(2) 2
(3) 3
(4) 4

i1 31 B ST U § : U HUFHUT (Assertion A) & =9 H (A1l € ol TR 39D PRUT (Reason R) &
Fql-ll

YT A : TR SR TR &1 o= Tl ot s § aur afid g @ &l ST © |
PRUIR : 96 S 39D HIa0 H 751 ¢ AR Ao g il 71 & 6 96 9 370 ¢ |
SWRIG PY & @D 1, 143U 7 fasedi § I 968 Uy IR B 99 By :

ASRRIHITAE IRR AT T AR
_A3RREHA U T, AR, AT ST TR TR &
_AFIE. AfpT R 3T ©

AR, AfPTRIAR

(1) 1
(2) 2
(3) 3
(4) 4

O

1[Option ID=15349]
2[Option ID=15350]
3[Option ID=15351]
4[Option ID=15352]

Sl. No.89
QBID:162089




Given below are two statements:
Statement I: The head of a Rabbinic School in Babylonia was given the title "gaon".

Statement II: The Karaites are a Babylonian Jewish sect with the leader Aman Ben David, an exilarch or leader
of the "Captivity".

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct

. Both Statement I and Statement IT are incorrect

. Statement I is correct but Statement II is incorrect
. Statement I is incorrect but Statement II is correct
(1) 1

(2) 2

(3) 3

(4) 4

e wyfeumug:
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SIRIGd P & ATaF 5, 13U 70 fgmedi T 9 91 SR &1 90 Pifon -

PYF 1 AR I GH A &
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DY 1 JI 8, A pUT I ST &
- E S R R AIG LRI IR
1) 1

) 2

(3) 3

(4) 4
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1[Option ID=15353]
2[Option ID=15354]
3[Option ID=15355]
4[Option ID=15356]

Sl. No.90
QBID:162090

Given below are two statements:

Statement I: Sikhism does not believe in caste based divisions.

Statement II: Caste based Gurdwaras are not established on Sikh ideology.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are correct

. Both Statement I and Statement II are incorrect

. Statement I is correct but Statement II is incorrect
. Statement I is incorrect but Statement IT is correct
1) 1

(2) 2

(3) 3

(4) 4
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(1)
(2)
(3)
(4)

H W N R

1[Option ID=15357]
2[Option ID=15358]
3[Option ID=15359]
4[Option ID=15360]

Sl. No.91
QBID:162091
Read the given passage and answer the questions:

In the twenty first century the sereen cuts an economic gash across the world, for there are millions who cannot afford
computers. The information, blogs, spiritual verses, holy stories, mystical music and all the rest of it are now shaping the
spiritual world of part of the human race, not all. The internet, is yet to fulfil its promise of uniting humanity. In the long-ago
pre-internet era, not everyone read deep and creative books either, and no doubt then as now many approached the spiritual
market place. It is possible to go on from religious talk to religious worship. It is not hard to find examples from religious
mstitutions that merely offer online videos of their services. Interaction is spiritually and machine is becoming interesting. It
is assumed that AT will replace the universality to singularity. Going even farther, there are techno-philosophers who
speculate that the computer revolution may ultimately lead to radical new kind of human, or post human.

faifpd eI & ufeu 3R Uyl & IR giforg «

SaHITd] Uel H Bhi - ThK fay T onfife e T et |rs 39 IR of § Ui Uy Qi & e aral
T S HIeR & oY 9 el B 9hd ¢ | YT &, Seafdid $a, uiftie Huld, 7 i iR g9
ORE B 31 dioll U 3d HHd il & 1@ eanierd sid & W= Fuiid 813813 7 far ¥gul
e STId @1 | Se3Ac - 3@ ad HHd & Us I H ORI & 1Y &1 O3 el a1 § | 950 994
T4 Sex1e-g7 &1 3RY B J gd Ui aifad 764 R goria® gead o 76 gar o1 iR g ara o
PIS g el & o 39 THy e 1 & oRe g T Qv nenfdrs ek 3nd 4 | enfifes araf & enfifes
JUMHT d ofF1 IHa § | Tt Txrafi T 59 e & 31630 W B3] Hid- o] & oe] had 3H1--
w5 difsal & Ao T IaT IuaR TS ol ¢ | SATeafeear 3R 7= & Heg 3= fopan ST
SHFR=ToRTH BIaT 91 X61 & | 94 A1l § [ Pd gia 701 (U.301%.) o HifHeal & Thd Waed § gRoa
B ol | S 1 ST @R BIAUY TH1B] QIRIHD] BT SHM & [ HHICR hifd b Bade1 ek
HAYd =4 T 7414 Upid & HId HYal HHGRi Follid i gedfd gHil |

Identify the correct statements on the basis of above passage:

A. Technology especially Al creates spirituality

B. Under the impact of technology religion is untouched

C. Technology provides an open space for religions

D. Technology creates new spiritual market

E. Internet playing an important role in sharing spiritual world.

Choose the correct answer from the options given below:

.A,B.Conly

.B. C and D only
. C.D and E only
. B, D and E enly

B O R

(1)
(2)
(3)
(4)

D W N R




UL T & YR | el HU— IMHY:

A UiEf®! Oy T8 U oS ¥ renf@sd &1 JoH glar g |
B. UIEII®! & WHTE U 4H 3Farg |

C. WIEfiTen! 4mf & oy God I SUTe Xl g |

D. UIEiff] ¥ AU SHTeTidld dIoIR &1 HE{0 g ¢ |

E. @D ST Bl WY G H §S3eR &l Hgw ol YHST S |

i feu U fadedl | U U8l IR &l 994 B -

|.$PAd A, B, C
2. HAd B, C, D
3. $Hdd C. D, E
4. HAAB, D, E

1)
(2)
(3)
(4)
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1[Option ID=15361]
2[Option ID=15362]
3[Option ID=15363]
4[Option ID=15364]
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Read the given passage and answer the questions:

In the twenty first century the screen cuts an economic gash across the world, for there are millions who cannot afford
computers. The information, blogs, spiritual verses, holy stories, mystical music and all the rest of it are now shaping the
spiritual world of part of the human race, not all. The internet, is yet to fulfil its promise of uniting humanity. In the long-ago
pre-internet era, not everyone read deep and creative books either, and no doubt then as now many approached the spiritual
market place. It is possible to go on from religious talk to religious worship. It is not hard to find examples from religious
institutions that merely offer online videos of their services. Interaction is spiritually and machine is becoming interesting. It
1s assumed that AT will replace the universality to singularity. Going even farther, there are techno-philosophers who
speculate that the computer revolution may ultimately lead to radical new kind of human, or post human.

Pt TeiTel T T SR i 3 SR AT

SaBad] gal O BhiH 3 Thw fay O onfdie € € T8l |15 309 &2 ol ¢ il UY @l & el aral
T & O IIeR 1 o1 96 8l IR THd & | YL s, nefasd g, uifile sutl, g Ihfia ik gy
oRE Pl 1 el 345 T W & SR SH1TAD ST T ey fTeiikd g1 81 &  fo "ol
TS ST B | 5c<4cﬁwaﬁmﬁwﬂjﬁﬁﬁﬁaﬁ SHTTE 1 G 7 feba & | 9gd 9HT
T4 gex-e-71 &1 3RY 31 ¥ Ugd Ui agfad 7184 3R Joriedd Jad o 9] Ygdl U1 R s ard o
g e Tol ¢ [ 3 THT 31 Bt € Re Tga I AT LD qomR o1d & | e arat I unffa
YA 3% I §HT § | U1fiie Geursif € 59 aRg & SaTexvl WK SR Hd- el & ofel pad 3if-
g difSal & HeTH § Yal SUae SR olldl ¢ | HTATErdhdl SR BRIH & 3¢ 31 {ohar SRR
SHR=TRATR Bia1 &1 381 § | gd Argdl § I $h gis A1 (U.3015.) Fra it d & Uehd wWey 3 uRkud
B T | 5T 2 3T IR BIAug dH-D! GRIFD! BT STHM & [ DI Hifd & Heaaey 3fad:
YT &4 4 74 U d & HIFa 3dl AHaraR elid &1 Jdid gl |

There are some reading of above passage:

A. Religious traditions are rigid towards technology

B. New technology creates spiritual market

C. It is not impossible to spread the message of religion on Internet
D. Religion is declining under the impact of internet

E. Various religions are using new technology.

Choose the most appropriate answer from the options given below:

1. A, C and D only
2.B,D and E only
3.C,D and E only
4. A, D and E only

1 1




) 2
3) 3
(4) 4

S e & Hfaay sfimm g -
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1.®dd A, C,D
2.%ddB,D,E
3.%AdC,D.E
4. PAd A, D, E

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15365]
2[Option ID=15366]

3[Option ID=15367]
4[Option ID=15368]
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Read the given passage and answer the questions:

In the twenty first century the sereen cuts an economic gash across the world, for there are millions who cannot afford
computers. The information, blogs, spiritual verses, holy stories, mystical music and all the rest of it are now shaping the
spiritual world of part of the human race, not all. The internet, is yet to fulfil its promise of uniting humanity. In the long-ago
pre-internet era, not everyone read deep and creative books either, and no doubt then as now many approached the spiritual
market place. It is possible to go on from religious talk to religious worship. It is not hard to find examples from religious
mstitutions that merely offer online videos of their services. Interaction is spiritually and machine is becoming interesting. It
is assumed that AT will replace the universality to singularity. Going even farther, there are techno-philosophers who
speculate that the computer revolution may ultimately lead to radical new kind of human, or post human.

Prgifid e o1 iU 3k Wt F 9w i :

SapIud] Fal H wh1- 3 o fay o snfie 2y § el |rs Scae R 4l ¢ Fife T ol ot e gl
H 3 O e &1 o0 95 ol @R §dhd ¢ | gal: s, AANdS Ba, Ulfitie SUTY, g Wid 3R g4
TRE DI @ dioll ¥ 3@ T oifd & 3MifRra sneafars o o1 ey M g1 w18 = fa wgof
3TegTETD ST BT imﬁwwmﬁwﬂgﬁﬁﬂﬁﬁu MY 1R el fHar g | 9gd 79T
Ud $eR-e-7 &I RY EH ¥ Ugd Ueis oidi T8+ SR Jorieds Y&ie Ul 7ol Ul o1 iR g9 a1 o
®I5 4T ol o [ 39 GHY 3T i ol A<s dgd d anT AP AR 31d 4 | enfife aral 9 «fie
JUH 9 91 HH § | HTiHe SRS T 59 e & 36U U B3] T8+ el ¢ ofe] $ad 3H--
s difsTl & Ted T TaT Suas TS oal & | HTeferdar iR TR & A s fopar ST
SHIR= AT I o1 3@l & |qﬁui-ud|%'%q>mu Sf& A (.31, IS o Thd W@y H ko
B ol | 589 2l 3T SHR BIaug dB-Ia] GIRIFS] BT S0 ¢ [ PR Hild & =1 3fad:
HAYd =9 I 7414 UPid & HIHd 3yl HHGRR Toilid B gadft gl |

The human race in future will be changed by this:

1. Religious leaders
2. Computer revolution
3. University education
4. Deep faith in religions
1) 1
(2 2
(3) 3
(4) 4




Yigw I OHa Uellfd 39 Uia=niud g S
1 a]ﬁ:hsﬁm

N %ﬂaﬁamtﬁ foren
4. A1 7 e 3R
(1)
)
3)
(4)

H W N R

1[Option ID=15369]
2[Option ID=15370]
3[Option ID=15371]
4[Option ID=15372]
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Read the given passage and answer the questions:

In the twenty first century the sereen cuts an economic gash across the world, for there are millions who cannot afford
computers. The information, blogs, spiritual verses, holy stories, mystical music and all the rest of it are now shaping the
spiritual world of part of the human race, not all. The internet, is yet to fulfil its promise of uniting humanity. In the long-ago
pre-internet era, not everyone read deep and creative books either, and no doubt then as now many approached the spiritual
market place. It is possible to go on from religious talk to religious worship. It is not hard to find examples from religious
mstitutions that merely offer online videos of their services. Interaction is spiritually and machine is becoming interesting. It
is assumed that AT will replace the universality to singularity. Going even farther, there are techno-philosophers who
speculate that the computer revolution may ultimately lead to radical new kind of human, or post human.

[ Tl &1 uleu SR Wyl & IR Sifei :

sapigdl 94l § ®h1- A gHd fay 1 snfife 2P 3 16l @rg S o < € aifes UH vl o1 de Al
H 2 S HIeR & oY 9 ol B 9ohd ¢ | YT &, eadid @4, Uit Huld, g il iR g9
ORE B 31 dioll U 3d HHd il & 1@ eaierd Sid &1 W= Fuiid 813817 7 far ¥gul
3TegTETD ST BT imﬁwwmﬁwﬂgﬁﬁﬂﬁﬁu MY 1R el fHar g | 9gd 79T
Ud $eR-e-7 &I RY EH ¥ Ugd Ueis oidi T8+ SR Jorieds Y&ie Ul 7ol Ul o1 iR g9 a1 o
IS g el € o 39 wHY 2o $ &t oRe g T Qv nenfdred ek 3nd 4 | enfifes araf & enfifes
JYET d@ o1 T4 § | Uit Jeursil ¥ 59 oRe & 3a1e] Wt &A1 Hie- ol ¢ ofel wad -
s difsTl & Ted T TaT Suas TS oal & | HTeferdar iR TR & A s fopar ST
SHIR=TRTE BIAT &1 XE1 € | Ud HI=d] g b T gf Al (U.3HTs.) aifieasdr &f Uhd W § gRua
B A | 559 2l 3T 9gHR BIdud dH-1] GIRIHD] BT SHM ¢ [ PIR Hild & Hewa=y 3fad:
HAYd =9 I 7414 UPid & HIHd 3yl HHGRR Toilid B gadft gl |

According to this paragraph

This will create singularly in the world.
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1) 1
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3) 3
(4) 4
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1[Option ID=15373]
2[Option ID=15374]




3[Option ID=15375]
4[Option ID=15376]
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Read the given passage and answer the questions:

In the twenty first century the screen cuts an economic gash across the world, for there are millions who cannot afford
computers. The information, blogs, spiritual verses, holy stories, mystical music and all the rest of it are now shaping the
spiritual world of part of the human race, not all. The internet, is yet to fulfil its promise of uniting humanity. In the long-ago
pre-internet era. not evervone read deep and creative books either, and no doubt then as now many approached the spiritual
market place. It is possible to go on from religious talk to religious worship. It is not hard to find examples from religious
institutions that merely offer online videos of their services. Interaction is spiritually and machine is becoming interesting. It
is assumed that AT will replace the universality to singularity. Going even farther, there are techno-philosophers who
speculate that the computer revolution may ultimately lead to radical new kind of human, or post human.

[T TTerie &1 uleu SR Wyl & IR gifeie :

Sapad! Uet 7 whlT = Tawd fay o onffe = O med Wi Sow o) < § Hife U« ot S aral
T S HTeR & oY 9 el B 9hd § | YT &, SeAdid $a, uiftie Huld, g il iR g9
TR Bl 3o <ol A 319 HFG W & SR S1efers S 1 sy FeiRd & e @ = o wyef
SHTEHTTED ST BT | $ex-E - 376 T HI-a &1 U I H ORI & 141 & R el [Ba1 g | 95d 998
T4 Sex1e-g7 &1 3RY B J gd Ui aifad 764 R goria® gead o 76 gar o1 iR g ara o
@IS G5 el & o 39 90y e $ & oRe 9gd I Qv efdre ek g 4 | unfifes araf € enfifes
SUTGHI 76 W1 T4 8 | YTfiier Sensfl 59 aRe & IaTeel W BT 1+ el ¢ il had -
S AifSal & ATeH I Gal IUdR SRS odl & | ATeETfadar 3R HYiH & 79 3 o STRRR
fE =TT SiaT S XeT § | 9 A & 1 pm 1S T (U o) Il o ted ey § ufto
B ol | S 2l ST SR BIAUY TH1D] QIRIHD] BT ST ¢ [ IR Difd b Baaey S
YT &4 § 744 U d & HHa 3dl HHarR elid &1 Jd i gl |

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Various world religious traditions have a common message for the unity of human kind.
Reason R : Internet especially social media fulfils its promise of uniting humanity.
In the light of the above statements, choose the correct answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. A 1s correct but R is not correct
4. A 1s not correct but R is correct
11
(2) 2
(3) 3
(4) 4

= S B ST U § : TP HUBUT (Assertion A) B =9 H AR & ol ORI SUP PRI (Reason R) &
Wfi

iy A - fay 9 faftw uifife o § oFd Ta Sl toa & R ImE 3T ? |
PRUIR : Se3E [aRN F9 ¥ Fiwa HifSar 4Hd 96 &1 U 99§ [IRA & S1YRH &1 - Sl 6 |
SR BY & ATeile H, - [y 7y faseul & 9 968 SUgaid 9<Rk &1 99 SIfg :

A 3R R S T8 € SRR, A T TS e B

A 3R R I TE1 €, AT R, A B U A S
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ATETE 8, Al R WEl ®

b2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15377]
2[Option ID=15378]

3[Option ID=15379]
4[Option ID=15380]
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Read the following paragraph and give answers to related questions:

The inflow of Karma soils the soul: Naturally these karmas have to be eradicated. In general it means that fresh inflow of
karmas (Agravas) has to be stopped. known as Samvara. Lastly the past karmas have to be burnt out or eradicated through
the process known as nirjana. For achieving the stoppage of fresh karmas and eradication of past karmas psycho-physical
discipline has to be adepted. Again, moral austerities have to be enforced. For stopping the inflow of fresh karmas, tapas
has to be adopted and it also is supposed to consume the accumulation of past karmas. In like manner, Pafica-Mahavrata
known as Ahimsa satya, Asteya, Aparigrah and bramacarya has to be enforced strictly for the monks and with less rigours
for the laity. For achieving mental control, three ratnas (Jewels) of right conduct, right (firm) faith and right (proper)
knowledge have to be assiduously cultivated. But above all, eight dhyanas and fourteen steps of Gunasthana have to be
resorted for final deliverance, or what may be called the attainment of the Pristine State of a Kevali, characterized by
omniscience. In other word, present inflow of karmas can be stopped, and past karmas can be eradicated by a rigid discipline
of mind, body and speech.

AT srwse & Ue 3R 39d wafdd 94l & I gl :

B! B ST STH] Bl ZNT BRI € | WD g b 51 Pl Pl 19 foba1 Sl Yapel & | HHI T
ag 31 o & 7dF Sl & ST (3199d) B U1 ofl Tl 8, o Yok Pod ¢ | o 8 R 3ifold
FHI Bl g/ ol Ihdl & 41 Y {501 &l T&vdl &, 59 Ui &1 oy T8l dl ¢ | T $Hl 1 AP 3R
R 31t P DI A8 DA D 00 UGS 3R IRIRG HaH! BT S 511 | 5% Tom $t FiemT
A BT | Y BT B AT Pl I+ S T ST AT B AR IR P & T P T8 SA SR | 59
UHR UTd JeTad-Siedn, 9d, i, U SR Sead, &1 urad Sl B $315 d 1 61 IR T8
T To Rl U Towdl B UTa- B G | 53 §18 HIa-Tels 9aH & e BRa &1 aRymgde ueH
BT I - 3R - I 91, gerep =P Ud e 3 | fog I98 SR 3418 90 3R ias Uy 3
AT ERT S O 71 Saell & ga =1 B U B=A1 e, o] gy ot w1 T ® | 39S vt
¥ Ha ¥ &g dl add SHl & ST S ADT ol I&dl § 3IR IR HH! $1 7Y 601 o 9adl 6, - 74,
o R BH $ $ER G9H GRT |

The soul is soiled by -

1. Dharma
2. Karma
3. Punya
4. Purusartha
1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=15381]
2[Option ID=15382]
3[Option ID=15383]
4[Option ID=15384]
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Read the following paragraph and give answers to related questions:

The inflow of Karma soils the soul: Naturally these karmas have to be eradicated. In general it means that fresh inflow of
karmas (Agravas) has to be stopped, known as Sarhvara. Lastly the past karmas have to be burnt out or eradicated through
the process known as nirjana. For achieving the stoppage of fresh karmas and eradication of past karmas psycho-physical
discipline has to be adopted. Again, moral austerities have to be enforced. For stopping the inflow of fresh karmas, tapas
has to be adopted and it also is supposed to consume the accumulation of past karmas. In like manner. Paiica-Mahavrata
known as Ahirmsa satya, Asteya, Aparigrah and bramacarya has to be enforced strictly for the monks and with less rigours
for the laity. For achieving mental control, three ratnas (Jewels) of right conduct, right (firm) faith and right (proper)
knowledge have to be assiduously cultivated. But above all, eight dhyanas and fourteen steps of Gunasthana have to be
resorted for final deliverance, or what may be called the attainment of the Pristine State of a Kevalf, characterized by
omniscience. In other word, present inflow of karmas can be stopped, and past karmas can be eradicated by a rigid discipline
of mind, body and speech.

[faRad sr=se Pl Ue SR I8 Srafed Usl & Fax alfoy :

BT B SANTHT HTH DI 0T PRl & | WD & [ 57 S0l o1 A fbar s wadr & | I =0 4
ag 3 g {3 7d1F S & ST (199) B U1 ofl Tl 8, o Yok Ped ¢ | o 8 IR 3ifold
4l Bl g1 ofl Tebal 3 A1 Y {61 ol Fvdl 3, 39 Uil B FoRT H81 oI1dl ¢ | 70 HH B AP 3R
R A FH B T8 B & [0 UGS 3R ARG FgH] &1 SO I | 75 Tg8 S A1e=T
HRAT G | U DA & ANTHA B AP & 17T S BIAT 61T R G DA & &3 P A8 HATGHT | 54
YR Uid HeTd-SHed], 9, 304, 3URUe SR Ser<d, $1 Ui 9143 o Hsls 9 1 el SR 58
BH BRIl 4 Rl Bl UIH B SN | THD a1 HIaTTED HgH S oY R BT IRyHYdSD urer
B BT - IR - TR 91, T 2ff Ud 0@ 4| g 9ad IR 3116 & 3R diag JURYH &1
AT GRT i T a1 Faci & Ha =T B AT SIAT o, Forgent Tdgar ot Fe T § | 59d sl
T H& & B¢ dl ad0H SHI & SATTHA B AT ol Gl § AR [RH ST Sl ¥ a1 o 91 8, - T,
a9 3R B & HBR GIH GRI |

Action stopping the fresh inflow of karmas known as:

. Nirjara

. Bandha

. Ajiva

. Samwvara
1) 1

(2) 2

(3) 3

(4) 4

A1 BHl & FTHA DI AP B (bl B HYI TG -

1. fasta
2.9
3. 3foiig
4. TR

(1 1

(2) 2

3) 3

(4) 4

Ja D b =

1[Option ID=15385]
2[Option ID=15386]
3[Option ID=15387]
4[Option ID=15388]
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Read the following paragraph and give answers to related questions:

The inflow of Karma soils the soul: Naturally these karmas have to be eradicated. In general it means that fresh inflow of
karmas (Agravas) has to be stopped, known as Sarhvara. Lastly the past karmas have to be burnt out or eradicated through
the process known as nirjana. For achieving the stoppage of fresh karmas and eradication of past karmas psycho-physical
discipline has to be adopted. Again, moral austerities have to be enforced. For stopping the inflow of fresh karmas, tapas
has to be adopted and it also is supposed to consume the accumulation of past karmas. In like manner. Paiica-Mahavrata
known as Ahirmsa satya, Asteya, Aparigrah and bramacarya has to be enforced strictly for the monks and with less rigours
for the laity. For achieving mental control, three ratnas (Jewels) of right conduct, right (firm) faith and right (proper)
knowledge have to be assiduously cultivated. But above all, eight dhyanas and fourteen steps of Gunasthana have to be
resorted for final deliverance, or what may be called the attainment of the Pristine State of a Kevalf, characterized by
omniscience. In other word, present inflow of karmas can be stopped, and past karmas can be eradicated by a rigid discipline
of mind, body and speech.

[faRad sr=se Pl Ue SR I8 Srafed Usl & Fax alfoy :

ST B ST STH B 3T A1 & | WIS & o6 5 4l 31 79 fbur s gapal & | aHg &9
ag 3 g {3 7d1F S & ST (199) B U1 ofl Tl 8, o Yok Ped ¢ | o 8 IR 3ifold
HH! Bl gerd] ol Febdl ¢ I1 Y a1 ol Il 8, 39 Wishal 1 TORT BT 1l § | TY HHI Bl AP 3R
R A FHI B T8 B & [0 UGS 3R AR FgH &1 SO I | 75 §g8 S A=
HRAT G | U DA & ANTHA B AP & 17T S BIAT 61T R G DA & &3 P A8 HATGHT | 54
YR Uid HeTd-SHed], 9, 304, 3URUe SR Ser<d, $1 Ui 9143 o Hsls 9 1 el SR 58
BH BRIl 4 Rl Bl UIH B SN | THD a1 HIaTTED HgH S oY R BT IRyHYdSD urer
BT B - Bk - e 91, TR <Y Ud 0@ 4| g 9ad SR 3116 & 3R diag JURH B
AT GRT i T a1 Faci & Ha =T B AT SIAT o, Forgent Tdgar ot Fe T § | 59d sl
T H& & B¢ dl ad0H SHI & SATTHA B AT ol Gl § AR [RH ST Sl ¥ a1 o 91 8, - T,
a9 3R PTH & HOR YIH G |

The process for eradicating the accumulated past karmas is:

. Bandha

. Nirjara

. Aparigrah
. Keval;

(1) 1

(2) 2

(3) 3

(4) 4

3 QR T B Y B B T B HeT TS

193
2. fei
3. 398
4. Faat
(1 1
(2) 2
3) 3
(4) 4

B N e B

1[Option ID=15389]
2[Option ID=15390]
3[Option ID=15391]
4[Option ID=15392]

Sl. No.99
QBID:162099




Read the following paragraph and give answers to related questions:

The inflow of Karma soils the soul: Naturally these karmas have to be eradicated. In general it means that fresh inflow of
karmas (Agravas) has to be stopped, known as Sarhvara. Lastly the past karmas have to be burnt out or eradicated through
the process known as nirjana. For achieving the stoppage of fresh karmas and eradication of past karmas psycho-physical
discipline has to be adopted. Again, moral austerities have to be enforced. For stopping the inflow of fresh karmas, tapas
has to be adopted and it also is supposed to consume the accumulation of past karmas. In like manner. Paiica-Mahavrata
known as Ahirmsa satya, Asteya, Aparigrah and bramacarya has to be enforced strictly for the monks and with less rigours
for the laity. For achieving mental control, three ratnas (Jewels) of right conduct, right (firm) faith and right (proper)
knowledge have to be assiduously cultivated. But above all, eight dhyanas and fourteen steps of Gunasthana have to be
resorted for final deliverance, or what may be called the attainment of the Pristine State of a Kevalf, characterized by
omniscience. In other word, present inflow of karmas can be stopped, and past karmas can be eradicated by a rigid discipline
of mind, body and speech.

[faRad sr=se Pl Ue SR I8 Srafed Usl & Fax alfoy :

BT B SANTHT HTH DI 0T PRl & | WD & [ 57 S0l o1 A fbar s wadr & | I =0 4
ag 3 g {3 7d1F S & ST (199) B U1 ofl Tl 8, o Yok Ped ¢ | o 8 IR 3ifold
ST & gerdl ol G ¢ a1 Y {51 off Tahdl 8, 59 Uihal &1 ok el ofidl § | U HH &1 Ad+ 3R
R A FH B T8 B & [0 UGS 3R ARG FgH] &1 SO I | 75 Tg8 S A1e=T
HRAT G | U DA & ANTHA B AP & 17T S BIAT 61T R G DA & &3 P A8 HATGHT | 54
YR Uid HeTd-SHed], 9, 304, 3URUe SR Ser<d, $1 Ui 9143 o Hsls 9 1 el SR 58
BH BRIl 4 Rl Bl UIH B SN | THD a1 HIaTTED HgH S oY R BT IRyHYdSD urer
B BT - IR - TR 91, T 2ff Ud 0@ 4| g 9ad IR 3116 & 3R diag JURYH &1
AT GRT i T a1 Faci & Ha =T B AT SIAT o, Forgent Tdgar ot Fe T § | 59d sl
T H& & B¢ dl ad0H SHI & SATTHA B AT ol Gl § AR [RH ST Sl ¥ a1 o 91 8, - T,
a4 3R BTH & HOR TaH GRI |

Given below are two statements:

Statement I: Jaina Monks observe five Mahavratas strictly.
Statement II: Practice of Triratna is being done for achieving mental control.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement [ is correct but Statement II is incorrect
4. Statement [ is incorrect but Statement II is correct
(11
(2) 2
(3) 3
(4) 4

T S Py RE MR :

BYA 1 : O TIY UTd HeTed! Bl UIeH B Ragdd B ¢ |

PUF 11 - YIS 0T U H & o0 g o e S ot § 1

SRIT DY & el H, 419 [3U T faeedi § 3 968 Uy IR &1 994 S -

YR I gel
PRI A Tad &
. FYF 1 el . AP HUT 1 a8
.Y 1770 8, AT U el §

1) 1
(2) 2
(3) 3
(4) 4

B

1[Option ID=15393]
2[Option ID=15394]
3[Option ID=15395]
4[Option ID=15396]

Sl. No.100
QBID:162100




Read the following paragraph and give answers to related questions:

The inflow of Karma soils the soul: Naturally these karmas have to be eradicated. In general it means that fresh inflow of
karmas (Agravas) has to be stopped, known as Sarhvara. Lastly the past karmas have to be burnt out or eradicated through
the process known as nirjana. For achieving the stoppage of fresh karmas and eradication of past karmas psycho-physical
discipline has to be adopted. Again, moral austerities have to be enforced. For stopping the inflow of fresh karmas, tapas
has to be adopted and it also is supposed to consume the accumulation of past karmas. In like manner. Paiica-Mahavrata
known as Ahirmsa satya, Asteya, Aparigrah and bramacarya has to be enforced strictly for the monks and with less rigours
for the laity. For achieving mental control, three ratnas (Jewels) of right conduct, right (firm) faith and right (proper)
knowledge have to be assiduously cultivated. But above all, eight dhyanas and fourteen steps of Gunasthana have to be
resorted for final deliverance, or what may be called the attainment of the Pristine State of a Kevalf, characterized by
omniscience. In other word, present inflow of karmas can be stopped, and past karmas can be eradicated by a rigid discipline
of mind, body and speech.

[faRad sr=se Pl Ue SR I8 Srafed Usl & Fax alfoy :

ST B ST STH B 3T A1 & | WIS & o6 5 4l 31 79 fbur s gapal & | aHg &9
ag 3 g {3 7d1F S & ST (199) B U1 ofl Tl 8, o Yok Ped ¢ | o 8 IR 3ifold
HH! Bl gerd] ol Febdl ¢ I1 Y a1 ol Il 8, 39 Wishal 1 TORT BT 1l § | TY HHI Bl AP 3R
R A FHI B T8 B & [0 UGS 3R AR FgH &1 SO I | 75 §g8 S A=
HRAT G | U DA & ANTHA B AP & 17T S BIAT 61T R G DA & &3 P A8 HATGHT | 54
YR Uid HeTd-SHed], 9, 304, 3URUe SR Ser<d, $1 Ui 9143 o Hsls 9 1 el SR 58
BH BRIl 4 Rl Bl UIH B SN | THD a1 HIaTTED HgH S oY R BT IRyHYdSD urer
BT B - Bk - e 91, TR <Y Ud 0@ 4| g 9ad SR 3116 & 3R diag JURH B
AT GRT i T a1 Faci & Ha =T B AT SIAT o, Forgent Tdgar ot Fe T § | 59d sl
T H& & B¢ dl ad0H SHI & SATTHA B AT ol Gl § AR [RH ST Sl ¥ a1 o 91 8, - T,
a9 3R PTH & HOR YIH G |

Given below are two statements:

Statement I: The attainment of final state of Kevali known as to be the omniscient.
Statement II: Obtaining eight dhyanas and fourteen steps of Gunasthanas are essential to be a Jaina monk.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement [ is correct but Statement II is incorrect
4. Statement [ is incorrect but Statement II is correct
1) 1
(2) 2
(3) 3
(4) 4

T S Py RE MR :

HY 1 : Hach BT A WY W ST FAF ST S |

BUFI : TS T 3R Fae ORI & ITa GRI o TY FAT A 8 |
SRIT DY & el H, 419 [3U T faeedi § 3 968 Uy IR &1 994 S -

YR I gel
PRI A Tad &
. FYF 1 el . AP HUT 1 a8
.Y 1770 8, AT U el §

1) 1
(2) 2
(3) 3
(4) 4

B

1[Option ID=15397]
2[Option ID=15398]
3[Option ID=15399]
4[Option ID=15400]

Sl. No.101
QBID:7201001




The following table shows population of five villages A-E and percentage distribution of males (M), females (F)
and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. ; Distribution (%)
Village Total Population y : N
A 12,000 46% (-) 22%
B 16,000 8] 33% 27%
C 18,000 32% 36% {-)
D 24,000 36% (-) 20%
E 25,000 @) 30% 25%

Note : In table (-) denotes missing value (%), which is to be computed whenever required.
AR difciep! A-E Ui Tiidl &1 SaTd] iR 370 U (M), Higdl (F) SR THeis & Ha=rd [ad=o &1
uidt 81 59 aifereT | 3T 70 sl & 3MUR IR Uy 6T 3R gIfo:

TETE] BT AHIR faaRom
8 T faeon afd=rd (%
i L M F i T
A 12.000 46% (-) 22%
B 16.000 (-) 33% 27%
C 18.000 32% 36% -)
D 24.000 36% i-) 20%
E 25,000 (-) 30% 25%
ie: aiferet § Rad 7 & () gR1 ax1Ta1 71 § [ tRea Savgedr e f&ar a1 51
Transgender population in Village - A is % of the female population in Village - B.
)
2. 50
3.3333
4. 66.66
1)1
(2) 2
3) 3
(4) 4
Tiig A T TEeiS @1 HTEE! A1id B 1 ARas]| &1 Sare] &1 % gl
1.75
2.50
3.33.33
4. 66.66
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=16401]
2[Option ID=16402]
3[Option ID=16403]
4[Option ID=16404]

Sl. No.102
QBID:7201002




The following table shows population of five villages A-E and percentage distribution of males (M), females (F)
and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. ; Distribution (%)
Village Total Population y : N
A 12,000 46% (-) 22%
B 16,000 8] 33% 27%
C 18,000 32% 36% {-)
D 24,000 36% (-) 20%
E 25,000 @) 30% 25%

Note : In table (-) denotes missing value (%), which is to be computed whenever required.
AR difciep! A-E Ui Tiidl &1 SaTd] iR 370 U (M), Higdl (F) SR THeis & Ha=rd [ad=o &1
uidt 81 59 aifereT | 3T 70 sl & 3MUR IR Uy 6T 3R gIfo:

3{TETS] BT UTHaR [daRur

. T TqaRT Ufd=rd (26)

i W M F T
A 12,000 46% =) 22%
B 16.000 (-) 33% 27%
C 18.000 32% 36% =)
D 24,000 36% =) 20%
E 25.000 (-) 30% 25%

ie: aiferet § Rad 7 & () gR1 ax1Ta1 71 § [ tRea Savgedr e f&ar a1 51

Find the difference between male population in Village - E and female population in Village - D.

. 890
. 830
. 690
.610
1)1
(2) 2
3) 3
(4) 4

Tiig E ¥ g2l &1 SH1aTdl 3R 7ia D O Afgarsii ®1 1Tl & ald &1 3R [ 82

. 890
. 830
. 690
010
1) 1
(2) 2
3) 3
(4) 4

B R

=W

1[Option ID=16405]
2[Option ID=16406]
3[Option ID=16407]
4[Option ID=16408]

Sl. No.103
QBID:7201003




The following table shows population of five villages A-E and percentage distribution of males (M), females (F)
and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. ; Distribution (%)
Village Total Population y : N
A 12,000 46% (-) 22%
B 16,000 8] 33% 27%
C 18,000 32% 36% {-)
D 24,000 36% (-) 20%
E 25,000 @) 30% 25%

Note : In table (-) denotes missing value (%), which is to be computed whenever required.
[rAfaRad dIfciep1 A-E Ui Tiidl 1 SaTd] SR 370 G (M), Bigdl (F) R Thhois & Wia=id [ad=o &
uidt 81 59 aifereT | 3T 70 sl & 3MUR IR Uy 6T 3R gIfo:

3{TETS] BT UTHaR [daRur

. T TqaRT Ufd=rd (26)

g W M F T
A 12,000 46% =) 22%
B 16.000 (-) 33% 27%
C 18.000 32% 36% =)
D 24,000 36% -} 20%
E 25.000 (-) 30% 25%

ie: aiferet § Rad 7 & () gR1 ax1Ta1 71 § [ tRea Savgedr e f&ar a1 51

Find the ratio of population of transgenders in Village - C to population of males in Village - B.

1.9:10
2.78
3.34
4.27:32
1)1

(2) 2

3) 3

(4) 4

Tiig ¢ ¥ gigoisR SR TTa B 1 g3l &1 STaTE! &1 SuTd J1d 1o |

1]

[ B SR B ]
00—

N

2T 232

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=16409]
2[Option ID=16410]

3[Option ID=16411]
4[Option ID=16412]

Sl. No.104
QBID:7201004




The following table shows population of five villages A-E and percentage distribution of males (M), females (F)
and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. ; Distribution (%)
Village Total Population y : N
A 12,000 46% (-) 22%
B 16,000 8] 33% 27%
C 18,000 32% 36% {-)
D 24,000 36% (-) 20%
E 25,000 @) 30% 25%

Note : In table (-) denotes missing value (%), which is to be computed whenever required.

AR difciep! A-E Ui Tiidl &1 SaTd] iR 370 U (M), Higdl (F) SR THeis & Ha=rd [ad=o &1
SRIdl &1 39 afere] H f3U 71T 3ieS] & YR TR WY T 30 g1

3{TETS] BT UTHaR [daRur

. T TqaRT Ufd=rd (26)

i W M F T
A 12,000 46% =) 22%
B 16.000 (-) 33% 27%
C 18.000 32% 36% =)
D 24,000 36% =) 20%
E 25.000 (-) 30% 25%

ie: aiferet § Rad 7 & () gR1 ax1Ta1 71 § [ tRea Savgedr e f&ar a1 51

What is the difference between number of males and females in Village - A ?

1. 480
Z2.1920
. 1120
. 1680
1)1
(2) 2
3) 3
(4) 4

Tiid A H g2l 3R Afgarsi @1 W= & did &1 3R [a g2

. 480
. 1920
L1120
. 1680
1) 1
(2) 2
3) 3
(4) 4

U ES S

=W

1[Option ID=16413]
2[Option ID=16414]
3[Option ID=16415]
4[Option ID=16416]

Sl. No.105
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The following table shows population of five villages A-E and percentage distribution of males (M), females (F)
and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. ; Distribution (%)
Village Total Population y : N
A 12,000 46% (-) 22%
B 16,000 8] 33% 27%
C 18,000 32% 36% {-)
D 24,000 36% (-) 20%
E 25,000 @) 30% 25%

Note : In table {-) denotes miss!ng value (%), which is to be computed whenever required.
AR difciep! A-E Ui Tiidl &1 SaTd] iR 370 U (M), Higdl (F) SR THeis & Ha=rd [ad=o &1
guridt 81 59 aifereT & foU 71U fids] & MR IR Uy &1 3R gifoe:

TETE] BT AHIR faaRom
. TqaRT Ufd=rd (26)
md @ Sl H i F T
A 12.000 46% (-) 22%
B 16.000 (-) 33% 27%
C 18.000 32% 36% -)
D 24.000 36% i-) 20%
E 25,000 (-) 30% 25%
ie: aiferet § Rad 7 & () gR1 ax1Ta1 71 § [ tRea Savgedr e f&ar a1 51
Total number of females in Villages B and D together is % more than the number of males in Village
-C.
1. 275
2.225
3.125
4.175
(1) 1
2) 2
3) 3
(4) 4
Tta B 3R D 31 # Ue q1y Higensi o o de1 7iid ¢ & goui 1 e 3 e nfawd st g2
1.275
2225
3,125
4. 175
1) 1
2) 2
3) 3
4) 4

1[Option ID=16417]
2[Option ID=16418]
3[Option ID=16419]
4[Option ID=16420]

Sl. No.106
QBID:7201006

In ADDIE model of instructional design framework, the letters I and E in the acronym ADDIE pertain to

1. Identification and Evaluation
2. Implementation and Evaluation

3. Identification and Examination
4. Implementation and Examination
(1) 1
(2) 2
(3) 3
(4) 4




G@Sﬁ%ﬁ'ﬂ@wamnmﬁ (TSIet3fTzs) Hisa & gRkaufl Wse ADDIE & &R 1 3R E [
A

1. Fereliepur 3iR Fewic
2. BT 3R Gedid

. Fereitenur 3R wien

1[Option ID=16421]
2[Option ID=16422]
3[Option ID=16423]
4[Option ID=16424]

Sl. No.107
QBID:7201007

Students participating in online classes are taught by an instructor. Following the lesson, the instructor intends
to incorporate reading materials (e-content, Power point presentation, ete.) that can be viewed by the students.
What option would instructor choose ?

. Content creation tools

. Networking tools

. Learning Management System (LMS)
. Links of the websites

1)1

(2) 2

(3) 3

(4) 4

TS DAl H U @ I3 [Genfial &1 U@ o 3x1e UgIdi g1 U6 & a1g SaxId YaH-aril (e-faug
A, TToR WIse Ui 31e) 59 SeRd d Had Rl & 1o faanedf 37 sraciie- & 9a | $9P iU
D BI-H fdhed DI T I

1. fawaayg fFmfor Suswor
2. Jeafd IyHRT
3. HTEATH Ya o= HUITell (TaUHTe)
4. 99915CH & oD
1) 1
(2) 2
3) 3
(4) 4

a2

1[Option ID=16425]
2[Option ID=16426]
3[Option ID=16427]
4[Option ID=16428]

Sl. No.108
QBID:7201008

Which of the following does not come under primary laws of learning ?

. Law of effect

. Law of Readiness

. Law of Multiple response
. Law of exercise

1) 1

(2) 2

3) 3

4) 4

fFoafafEa & e Fram siftmm & uufte fadi & sidfd 76t smarg?

1. 941G &1 Fa|
2. dod=al &1 FaH
3. 98 YW 1 g
4. 3 H HuH
1) 1
(2) 2

| S

N I




3) 3
(4) 4

1[Option ID=16429]
2[Option ID=16430]
3[Option ID=16431]
4[Option ID=16432]

Sl. No.109
QBID:7201009

Given below are two statements :
Statement I : Project method is best associated with the Philosophy of John Dewey.

Statement II : The strength of Project method lies in social participation.
In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are correct.

. Both Statement I and Statement IT are incorrect.

. Statement I is correct but Statement I is incorrect.
. Statement I is incorrect but statement II is correct.
(1) 1

(2) 2

3) 3

(4) 4

e < wy ey e &

HU 1 : URie fAfY ST St & 3= 3 waiive U 3 dEla g

S 11 : Ufo fafd &t waaa rfore wifia § a8

SR DY & HTaid H, 14 3T 70 f[deedi ¥ 3 969 Sugad SR D1 99 B

HYTI R GHI Tl § |
PYF IR GHI Tad § |
FYFITEIE, AP FUF I e § |
L PYTITEd e, AT U IR § |

1)1
(2) 2
(3) 3
(4) 4

b=

S Y

B

1[Option ID=16433]
2[Option ID=16434]
3[Option ID=16435]
4[Option ID=16436]

Sl. No.110
QBID:7201010

For Undergraduate educational programmes, courses on SWAYAM Platform have been developed by :

A NPTEL

B. IIM Ahmedabad
C. AICTE

D.CEC

E. IIM Bangalore
F. UGC

Choose the most appropriate answer from the options given below :

A, C,Dand E Only
.B. D, and F Only
A.D.E and F Only
.C.E and F Only
(1) 1

(2) 2

3) 3

(4) 4

[

=




qﬁa‘gmw Siférep Brichl & AU U (SWAYAM) R Q&0 U SR uieass fedsd gRI [aeiyd fed
e
A TdidsTa

B. SIS HISUH, SEHEETE
C. T3RHIds

D. Tl

F. fd.31.3Mm.

A U Y faeedl o 9 9l SUgad SRk 1 98 BIfoIL:

1.PAAA, C,D AR E
2. Had B, D AR F
3. HAA A, D, E 3R F
4. HAAC,EARF

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16437]
2[Option ID=16438]

3[Option ID=16439]
4[Option ID=16440]

Sl. No.111
QBID:7201011

While reading research paper or research reports, often one comes across the abbreviation 'viz', which means

. for example
. namely

. against

. refer to

1) 1

(2) 2

3) 3

(4) 4

[T FUR NG

L

Ty SfTed A1 1Y Hfaded (ROid) 9ga Hg Uh: Saier viz 3fidl g, 391 o &:

1. STy
2, ATed:/3ufd
3. % [asg
4. F el d
1) 1
() 2
(3) 3
(4) 4
1[Option ID=16441]
2[Option ID=16442]

3[Option ID=16443]
4[Option ID=16444]

Sl. No.112
QBID:7201012

A student submits Ph.D. thesis in a university. Upon scrutiny, it is found that his/her thesis has a similarity
content of 35%. This would fall in which of the following categories of plagiarism according to UGC
regulations ?

.Level 0
.Level 1
.Level 2
.Level 3
1) 1
(2) 2
3) 3
(4) 4

o S




U faepdl ue fayfaeer o ool Ul-ua. 31, 2Ny Ha'e 501 Sl 6 | 39D Qe Hae SI Hdlal - R
I [T & 35% HRTH GHEYAI UTg Sl ¢ | f[ayfd=iery Srar SianT & fafadi & sraR
FrafaRad H 9 ug wiew 9kl & fog R $(1d g2

LR O
ESE
S 2
X3
1) 1
(2) 2
3) 3
(4) 4

k2 =

=

1[Option ID=16445]
2[Option ID=16446]
3[Option ID=16447]
4[Option ID=16448]

Sl. No.113
QBID:7201013

The part of research paper that gives an overview of the field to be investigated and the investigator's
hypotheses about the research outcome, is called

1. Abstract
2. Introduction
3. Results
4. Method
1) 1
(2) 2
3) 3
(4) 4

1Y SATERG &1 a8 U forad QY & A & &1 fagmaaie- Sik Ty & F<py & IR H ofaud $i
qRE I3 BT Ioeg (a1 o1dT &, 39 Tl odl &:

R
PESIGE]
giome
fafer

N

(1) 1
) 2
(3) 3
(4) 4
1[Option ID=16449]
2[Option ID=16450]

3[Option ID=16451]
4[Option ID=16452]

Sl. No.114
QBID:7201014

A study in which a group of participants is observed and measured over a period of time, refers to

1. Longitudinal Research
2. Archival Research
3. Cross-sectional Research
4. Correlational Research
1) 1
(2) 2
3) 3
(4) 4

U ST forgs UiquIiTdl & Us 9HE &1 U dTd Hfafd & Uefur 3R J79- (61 §irdl 8, 39 Sl oldl &




(4) 4

1[Option ID=16453]
2[Option ID=16454]
3[Option ID=16455]
4[Option ID=16456]

Sl. No.115
QBID:7201015

Given below are two statements :

Statement I : In case of qualitative phenomena, we have data on the basis of presence or absence of an
attribute or more than one attribute.

Statement IT : With such data as mentioned in Statement I above the sampling distribution may take the form
of a Binomial probability distribution.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4, Statement I is false but Statement II is true.

1)1

) 2

(3) 3

(4) 4

4 @ Py ey M &

DY 1 - UMD YRYCH & eFIa/HH 3, 89 TP U1 T I v fa=ivdisi/en of Suieufd srya
U & YR W HbgT Safed B 8

B 11 - Suad PuA-1 H SfefEd siws! o1 ufaes faavo fgudia witiedr faavu & &9 & g aear g
IRIFd FYF & AT H A1 [GU T [dFHedl # U ol 3R &1 99 Hilole:

PYFIAR IS A E |

HYF 1 AR I AT AT |

PYT 1T, AT PYT I AT § |
DY IR, U PUT I TR |
1) 1

() 2

@) 3

4) 4

B

1[Option ID=16457]
2[Option ID=16458]
3[Option ID=16459]
4[Option ID=16460]

Sl. No.116
QBID:7201016

Every society, because of communication, reflects a sense of to most extent.

. Commonality
. Doubt

. Indifference

. Animus

1) 1

(2) 2

(3) 3

(4) 4

Y JHIS YUY & PHRU §5d §& 0P 1 UTa1 D1 WS P |

o B R

L. {THTT
e

- qeT
fagy

:h.!.u

1) 1
(2) 2
3) 3




(4) 4

1[Option ID=16461]
2[Option ID=16462]
3[Option ID=16463]
4[Option ID=16464]

Sl. No.117
QBID:7201017

On the negative side, communicative language is used to :

A. Extend democratic debates
B. Suppress truth

C. Divide the society

D. Permeate ethnocentrism

E. Support global peace efforts

Choose the correct answer from the options given below :

A.B. C Only
.B. C.D Only
.C. D, E Only
.A.C.E Only
(1) 1
(2) 2
3) 3
(4) 4

TPRIED G4 DI 91 P+ ol SISO HTST BT TGN fhar S 2

A. diSdi® de-lddrg @f ggH & iy
B. I P G0 B & fau

C. JYT Bl die- & oy

D. USllfd-dr= gl &l URIHT - & ey
E. 3f%e wifq yari & 999 & ol

i g fos el & @ W@ s 9w
1.$had A, B, C

b=

I Y

1[Option ID=16465]
2[Option ID=16466]
3[Option ID=16467]
4[Option ID=16468]

Sl. No.118
QBID:7201018

Given below are two statements :

Statement I : Communication, culture and power are inter-related.

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II 1s false.
4., Statement I is false but Statement II s true.

1) 1

(2) 2

3) 3

(4) 4

Statement II : Socio-cultural values when communicated do not have any weightage of power.

In the light of the above statements, choose the correct answer from the options given below :




I < Py RRE e &

BYT I - YOS, TGP 3R T o G gid B

HY 11 : YN P YT AT DT iae Hedl 1 idd &1 $ig aoid Tol 36 oIdl 3|
IR HYA P 3H1elie T, F9 3 70 e edt & 9 9t So) &1 9g S

L PYF IR SH TAG |
2. FYF1 AR I A AT E |
3. FYT I g ¢, AP HUT 11 3T B |
4. PYF 1 TR, AT P I T © |
1
(2) 2
3) 3
4) 4

1[Option ID=16469]
2[Option ID=16470]
3[Option ID=16471]
4[Option ID=16472]

Sl. No.119
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Modern communication technology has converted words into

A. Atool of equality

B. Time

C. A tool of unwarranted peace
D. Money

E. Power

Choose the correct answer from the options given below :

_A, B, C Only
.B. C.D Only
.C.,D, E Only
.B.D,E Only
(1) 1
(2) 2
3) 3
(4) 4

Y TaR Wefie 3 weei o1 TuRafad &2 e &:

A THFA S AYA S =g o

B. 999 H

C. g wifd &1 gfad & =g o
D.¥9H wgH

E.Yidd s &9 d

2 feu U fasedi O 9§ I8 3R &1 90 Bifore:

1.$Pad A, B, C
2. %A@ B, C. D
3. %4 C,D.E
4.%dd B, D, E

(1 1

(2) 2

3) 3

(4) 4

[ S

1[Option ID=16473]
2[Option ID=16474]
3[Option ID=16475]
4[Option ID=16476]

Sl. No.120
QBID:7201020




Given below are two statements :
Statement I : The semantic code in communication deals with character and characterisation.

Statement II : Roland Barthes describes this code as the voice of the person.
In the light of the above statements, choose the cotrect answer from the options given below :

. Both Statement I and Statement II are true.

. Both Statement I and Statement IT are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement II is true.
(1) 1

(2) 2

(3) 3

(4) 4

A gl wy fRu Mg &

HYA L A9 H Srefbdrd &1 He I 3R R0 3 dafid gian g |

HUF 11 : a1 a1 7 51 Pe D) 4G B SM1aTe B I S 5

SURIF PU B el 1, A9 3 Ty Geedt & 9 9l 5u) &1 =g St

YIRS AT |

. HYF 1 AR 1A TS |

. PYTITI S, AfPT BT 1 ST |
L PYTI AR, AT YT I IR |
(1) 1

(2) 2

(3) 3

(4) 4

b=

IS Y

B

1[Option ID=16477]
2[Option ID=16478]
3[Option ID=16479]
4[Option ID=16480]

Sl. No.121
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A shopkeeper purchases a packet of 60 pens at Rs. 10 per pen. He sells a part of the packet at a profit of 40%.
On the remaining part, he bears a loss of 20%. If his overall profit on the whole packet is 20% of , find the
number of pens he sold at profit.

L bd Lo e
L T s T e s |

R

1) 1
2) 2
(3) 3
(4) 4

TS SPHMER 10 TIU Ui HAH B & A 60 HAH & TP Udbe DI @Xigdl 5| a6 Ude & T U B 40%
& T TR &1 6 | Y 4T TR I 20% P11 BIl & | Afe S g0l Tdhe TR o TH 20% BIT 6, 79
HAH B 98 SEHT 1d Biford for 8- A R adl 8 |

40
30
20
.35
(1) 1
) 2
(3) 3
(4) 4

B b e

1[Option ID=16481]
2[Option ID=16482]
3[Option ID=16483]
4[Option ID=16484]

Sl. No.122
QBID:7201022




A batsman scored 98 runs in his 17th match . As a result his average runs per match increased by 2.5. What

17 ~th

was his average before playing match 7

il il v
Cho L Oy La
b= b aoath
Lh Lh Lh Lh

1) 1
(2) 2
(3) 3
(4) 4

U qeaiardl (shape RIArED) 170 9 1 08 T §IG1 8| SHD URUMH W& I9$ Uidhd a5 2.5
waﬁq@ﬁaﬁr%mﬁ 1701 59 W & Ygd S9! Sid [ U1

Ln

el 2
Ch L Oy
= 00 O La
Lh Lh Lh LR

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=16485]
2[Option ID=16486]

3[Option ID=16487]
4[Option ID=16488]

Sl. No.123
QBID:7201023

Water level of a river increases and decreases by 10% on alternate days in the rainy season. What shall be the
increase or decrease in the water level at the end of second day. as compared to the initial water level ?

1% of increase

1% decrease

1.5% increase
5% decrease

| SR

Y

1) 1
(2) 2
3) 3
(4) 4

auTHg & YT U 41 & oTasR § U fa 10% Pi 3fE Siell ¢ Td T3 & 10% 31 it gl 81 omifiye
SR &1 T H gIR a1 & 3id H e H fobd widerd &1 gfe; sruar ot g1 et

1[Option ID=16489]
2[Option ID=16490]
3[Option ID=16491]
4[Option ID=16492]

Sl. No.124
QBID:7201024

There are two numbers such that the sum of twice the first number and thrice the 22¢ number is 39. Also the
sum of thrice the first number and twice the 2nd number is 36. The largest of the two numbers 15 ?

i el

1) 1
(2) 2
(3) 3
(4) 4




<1 T 5 UHR 21 1 ¢ Fore o e & ST 3R g 98 & foi- &1 31T 30 & T gt S
& [T SR Gl S & SR &1 417 36 5| G arell H 4 a9 H& $I-41 2
s

e el el
R

6

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=16493]
2[Option ID=16494]

3[Option ID=16495]
4[Option ID=16496]

Sl. No.125
QBID:7201025

If SEARCH is coded as 214673 and CHART is coded as 73465, then what will be the code for TEACHER ?

. 5147316
. 5174136
. 5143716
. 5413716
(1) 1
(2) 2
(3) 3
(4) 4

4i& SEARCH &1 214673 & U T a5 (U1 T 8 R CHART &I 73465 & &9 1 Heag [bdI T &
d€ TEACHER @I {64 @5 § eas foar s

N PR S

. 5147316
. 5174136
. 5143716
. 5413716
1) 1
(2) 2
(3) 3
(4) 4

O B R e R

1[Option ID=16497]
2[Option ID=16498]
3[Option ID=16499]
4[Option ID=16500]

Sl. No.126
QBID:7201026

"Today on average we can look forward to a longer life span than the generation before us. It is obvious that it
has been possible only and only because of the millions of dedicated doctors who have ensured our good
health". Identify the fallacy committee in the above argument from the following options ?

. Hasty Generation

. False Cause

. Slippery slope

. Appeal to unqualified authority

b

(1) 1
(2) 2
3) 3
(4) 4

I TS 51 30 Jd Uil St {tef dal Sia--3iaftl o Ui @R 9dd ¢ | I8 WY & [ U9 daa
TE THIY STaeR] & PRUI YT 5315 | 614 6K 3=y W ®i g a1 5| Sudad ab o
fafafad fd@ed 9 dF 3y &1 ggaE Sifo|

1. {fg=TiRd qE=iiao
2. frgrepur
3. fraegad yaurd
4. 3T UIUSR 31U8
1) 1
2 2




3) 3
(4) 4

1[Option ID=16501]
2[Option ID=16502]
3[Option ID=16503]
4[Option ID=16504]

Sl. No.127
QBID:7201027

If the statement 'All cricketers are rich persons' is given as true which of the following statements can be
inferred to be false 7

A. No cricketers are rich persons.

B. Some cricketers are rich persons.

C. Some cricketers are not rich persons.
D. Some rich persons are ericketers.

Choose the correct answer from the options given below :

.B and C Only
.Aand C Only
.B and D Only
.A.Band C Only
(1) 1

(2) 2

(3) 3

(4) 4

gﬁfﬁ?ﬂ gl fehdreR el aafar § 1" 9l & dl el o § SIH-81 Sy Tad SiH1-d a1 o ol
I

A. DT fbdhex o aafad 21
B. % [hdhex ol Al g1
C. $© fvdrex vt oafda Ts1 g
D. T ol ol febdre &1

Hi= fdu e fasedl ©§ © 96l STk &1 99+ DI

1. FaaB 3R C
2. HATAIRC
3.%dd B 3R D
4 FadA.BIARC

b2 =

I e

(4)

1[Option ID=16505]
2[Option ID=16506]
3[Option ID=16507]
4[Option ID=16508]

Sl. No.128
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Which of the following propositions are so related that they cannot both be true. although they both may be
false ?

A. All football players are rich persons.

B. No football players are rich persons.

C. Some football players are rich persons.

D. Some football players are not rich persons.

Choose the correct answer from the options given below :

Aand B Only
.Aand D Only
. Cand D Only
.B and C Only

[ e

S Y

(1)
(2)
(3)
(4)

A W N =




mﬁﬁ-ﬁmwwﬁw@mﬁ%ﬁﬁﬁﬁmiH‘e‘ﬁazﬁﬂﬂﬁﬁ
|

A. Y Beard [Ears! -l afdd g

B. @5 bedld [&drs! ¢ ofad =gl g |

C. T© Peald faars! o= Al g

D. $© peald faars! U+ ofdd el &

Hi= fdu e fasedl ©§ 9 gl SR &1 99 PIfog:

1. %ad A 3R B
2. BT A IRD
3.%dd C IR D
4. FaaB AR C

1 1

) 2

(3) 3

(4) 4

1[Option ID=16509]
2[Option ID=16510]
3[Option ID=16511]
4[Option ID=16512]

Sl. No.129
QBID:7201029

Which of the following propositions are logically equivalent ?

A No dogs are aggressive animals.

B. No aggressive animals are dogs.

C. All dogs are non-aggressive.

D. Some dogs are not aggressive animals,

Choose the correct answer from the options given below :

. Cand D Only

A and D Only
A, B and C Only
.B and D Only
(1) 1

(2) 2

3) 3

(4) 4

FrafiEa & e -4 wlogfcdl dfds =9 9 99 g

A. Big Ul P 3HHS TR a1 o |
B. @5 i 3TehTHS SHF6R &l ol o
c. T o1l IR-MBES 5 |

D. T T AHHS TR T8l 8|

Hi= fdu T famedl § 9 gl SR @1 994 Difg:

1.%Had C IR D
2. FAAAARD
3.PdAA, B ARC
4. $adB ARD

(1) 1

) 2

@3) 3

(4) 4

| SR

Y

1[Option ID=16513]
2[Option ID=16514]
3[Option ID=16515]
4[Option ID=16516]

Sl. No.130
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Given below are two Statements :

Statemnent I :According to classical Indian school of Logic. namely Nyaya, we ascertain the relation of
universal concomitance between x and y by perceiving that in all cases the presence of x is accompanied by
presence of v, and not perceiving any instances to the contrary.

Statement IT : Classical Indian materialists argue that universal relation between two events cannot be
established, there being always a room for doubt about the unobserved cases,

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both statement I and Statement IT are false.
3. Statement is true but Statement I is false.
4. Statement [ is false but Statement II is true.

1) 1

2) 2

3) 3

(4) 4

14 @ Py Ry M &

HYA [ : ARAT YR THRIRA A9 7d & HER 64 x 3R y & d19 AU Ggafiaal Hiad $3d o
ol it TRl F x P SufUfd & Wy y 3 Sufufa g1t €, iR 399 A &8 epid e B

FY 11 : TRA YR ifdware aF 3 & i el a1 afegennsit & &g arduiite ey wufta et
fopar o Gepdi & ife miferd fawal & o & 989 Heg o GYIaT el |

TR FUA F AP § A 30 70 et § 9 I8! 3% &1 9949 DI

YIRS AT |

PYF 1 MR G AT |

. HYT I JA &, AfPT BYUT 11 AT E |
L PYTI AR, AT YT I IR |
1) 1

) 2

(3) 3

(4) 4

b

1[Option ID=16517]
2[Option ID=16518]
3[Option ID=16519]
4[Option ID=16520]

Sl. No.131
QBID:7201031

Which of the following applications A-C are built on top of open-source digital platforms ?

A, Aadhar
B. Adobe Reader
C. COWIN

Choose the correct answer from the options given below :

A BandC
.Aand B Only
.B and C Only
A and C Only
1) 1

(2) 2

3) 3

(4) 4

B




FAfaRad SR A-C T 9§ SH-$H 9 o Hid 3B Tiehid W [id ey mu g

A. 3TUR
B. TS| {s¥
C. ®ifdA

i feu U faedi O 9§ 981 3Tk &1 90 Bifoe:

1[Option ID=16521]
2[Option ID=16522]
3[Option ID=16523]
4[Option ID=16524]

Sl. No.132
QBID:7201032

Given below are two statements :
Statement I : IBM was the most valuable worldwide IT brand in 2022.

Statement IT : TCS and Infosys were the second and the third most valuable Indian brands respectively in the
IT services sector globally in 2022,

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT is false
3. Statement I is true but Statement II is false
4, Statement I false but Statement II is true

1 1

(2) 2

3) 3

(4) 4

TR FEfumE:
HYF 1 : AMGEIUA T8 2022 B gy 1R T 9aiU® gegam snscl sis i)

HYA 11 a 2022 F st Jarsh & &7 & foy # TRy iR oI Haw: g SR der gaiiye®
T 3ge! YR 518 4|

SRIGd BT & AaA® B, 19 i 7u Goadi § J 96t S &1 957 B

PYTISR IS T |

CHYF 1 AR I A AT |
PYTITA S, AfT YT I ST E |
PYT 1 I, AT YT I TR |
1) 1

@ 2

3) 3

(4) 4

B

1[Option ID=16525]
2[Option ID=16526]
3[Option ID=16527]
4[Option ID=16528]

Sl. No.133
QBID:7201033




Which of the following statements (A-C) are correct with reference to "Software as a Service (SaaS)" in cloud
computing ?

A. Saa$ users can access their data from any Internet-Connected computer on mobile device.

B. A web-based email service such as Outlook, Hotmail or Yahoo! Mail is a form of SaaS.

C. Saa$ buyers can customize the user interface to change the look and feel of the software, as well as
modify specific areas, such as a data fields.

Choose the correct answer from the options given below :

1. Aand B Only
2. Aand C Only
3.B and C Only
4 A BandC

1) 1
(2) 2
(3) 3
(4) 4

FASS B § WUeddR Ud U Hidd () & ey & FHafiiad = 4 8 $H-9H 9 59 Hel 82

A. T W Seie 9 o3 (ol ol dugex sryar Hialsd US04 30U Scl 9% Ugd 9hd ¢ |

B. 3T, BicHd SiUdl AT Hd ofbl 9 SUTRd sHd Yal 919 $I U =U ¢

C. T hl Aredik @1 ¥9 SR sufd afkafda e ik Se7 &1 o fafkiy & &) w=aiafa s
& T WOTeaT SIoRTTS & 3O AU ATTIR &1 95d § |

Hi= fdu T fasedl ©§ 9 gl SR &1 99 PIfog:

1. %ad A 3R B
2. HATA IR C
3.%aAB AR C
4. A B3RC

1) 1

) 2

3) 3

(4) 4

1[Option ID=16529]
2[Option ID=16530]
3[Option ID=16531]
4[Option ID=16532]

Sl. No.134
QBID:7201034

Which of the following communication technologies A-C are considered as short-range devices/technologies ?

A CCTV
B.RFID
C. WLAN

Choose the correct answer from the options given below :

.Aand B Only
.Aand C Only
.B and C Only
A, Band C
(1) 1

(2) 2

(3) 3

(4) 4

|

EE V]




o <o dienfifeal A-c 1 9 g Y ¥ U=/ dIiies! 911 o &2

A, JRferd
B. HRUBHE S
C. ST

i feu U faedi O 9§ 981 3Tk &1 90 Bifoe:

1. %ad A AR B
2. FadAARC
3.%dd B 3R C
4.A,B3RC

1 1

) 2

3) 3

(4) 4

1[Option ID=16533]

2[Option ID=16534]

3[Option ID=16535]
4[Option ID=16536]

Sl. No.135
QBID:7201035

In India, the term "Public Key Infrastructure” is used in the context of

1. Digital security infrastructure
2. Food security infrastructure
3. Health care and education infrastructure
4, Telecommunication and transportation infrastructure
1 1
2) 2
(3) 3
(4) 4

YRA & HIdoiHe Je@qul HaEaAT (Uledid & g3pRedaR) Mafiad & [y dau o uah faar o

. 3{eh 1T GR&IT T

. T GR& 3GERFT

. TGTR ST g 4T HGHREAT
X HIR 3R URag fad=aH]
@ 1

(2) 2

3) 3

) 4

e

1[Option ID=16537]
2[Option ID=16538]
3[Option ID=16539]
4[Option ID=16540]

Sl. No.136
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What is the correct sequence of steps in Risk assessment related to environmental hazards ?

A. Risk characterization
B. Exposure assessment
C. Hazard Identification
D. Risk Management

Choose the correct answer from the options given below :

JCBUA, T

| SR

Owmw

s
.
B,

eNel

.D
D
A

Y

1) 1
) 2
3) 3
(4) 4




mafaRufi Rl § defid Sifen gwaie & Fefataa el o1 gl sHea ® 2

A. SIREY faRiiemru
B. SSHHT Helld
C. @RI I YgaH
D. SIIFGH WaeH

i< fau ¢ fas gl & U Hel SR &1 95 B

1[Option ID=16541]
2[Option ID=16542]
3[Option ID=16543]
4[Option ID=16544]

Sl. No.137
QBID:7201037

National Solar Mission, one of the missions of National Action Plan on Climate Change (NAPCC) was
launched in the year

2009
2010
2011
2012

da Lo b

1) 1
(2) 2
(3) 3
(4) 4

Searg URac ga el APy S e (@Eud ) & R H 9 e g IR feE o P 3 few ad
IR o T 12

2009
2010
2011
2012
1)1
(2) 2
3) 3
(4) 4

o

1[Option ID=16545]
2[Option ID=16546]
3[Option ID=16547]
4[Option ID=16548]

Sl. No.138
QBID:7201038

Which one of the following has contributed maximum in sea level rise so far in the context of climate change ?

1. Melting of Antarctic Ice-sheets

2. Melting of Glaciers
3. Thermal expansion of oceanic waters
4, Melting of Greenland Ice sheets

(1) 1

(2) 2

3) 3

(4) 4




g@@%ﬂﬂ%@ﬁﬁww?ﬁwsﬁﬁaﬂﬂwﬁaﬁ@aﬁ% [P g TG YD gl

1[Option ID=16549]
2[Option ID=16550]
3[Option ID=16551]
4[Option ID=16552]

Sl. No.139
QBID:7201039

Out of different oxides of nitrogen which of the following are considered as Air Pollutants and known as NOx
3

A.NO (Nitric Oxide)

B. NO, (Nitrogen dioxide)
C. NO; (Nitrogen trioxide)
D. N,0 (Nitrous oxide)

Choose the correct answer from the options given below :

.Aand B Only
.B and C Only

. C and D Only
A, B and D Only
1) 1

(2) 2

3) 3

(4) 4

5 & fafie siamg st | 9 o 1 9 fog a1y 9gye 91 91d1 & $iR NO, & w0 § ofH |l g |

| SR

N Y

A.NO ([AB[EH HFEs)
B. NO, (IZC o 15 3T5S)

C. NO; (IS¢ T8 EHIES)
D. N,0 (A5¢H HaH5S)

2 fu e fowedi & § 96t I &1 957 BIfTE:

1. %ad A IR B
2. PHdAB AR C
3.%dd ¢ 3R D
4. PAAA, BIRD

1 1

() 2

@3) 3

(4) 4

1[Option ID=16553]
2[Option ID=16554]
3[Option ID=16555]
4[Option ID=16556]

Sl. No.140
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The advantages of biodiesel over conventional petro diesel are :

A. Biodiesel produces significantly lesser CO, and SO;.
B. It is non-rencwable

C. It has higher octane number

D. It can be used in any ratio with petro-diesel

E. It has lower flash point.

Choose the most appropriate answer from the options given below :

A, B and C Only
.B.Cand D Only
A, CandD Only
. C.D and E Only

e L b2 =

1)
(2)
(3)
(4)

JRONE UCleioid &1 HU&T Sla-Siofd & -4 & 3 F1-01 ar g2

A. J3-SIoTd HTH FH €O, AR 50, ITT FAT 5|

B. U8 TR Adtaxufig g1

C. SHP! AT T SR |

D. 33 Uc! Sivra & a1y et ot srura & vt foram o e 21
E. 395 [ SoaHIe (09 @I5e) B

- feu e fomcdl 7 9 a9 Sugad SR BT 944 PIfE:

1.PAAA, B AR C
2.%ad B, C IRD
3. ®ad A, € IRD
4.HaAC, D IARE

H W N R

1)
(2)
(3)
(4)

A W N =

1[Option ID=16557]
2[Option ID=16558]
3[Option ID=16559]
4[Option ID=16560]

Sl. No.141
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Which of the following names of technology platforms has been mentioned in NEP-2020 through which
online training of teachers will be encouraged ?

A SWAYAM
B. AYUSH
C. PARAKH
D. DIKSHA
E.NIT

Choose the correct answer from the options given below :

.B and C Only
.Aand D Only
A, CandD Only
.A,Band E Only

R R

(1)
(2)
(3)
(4)

H W N =




75 fren Hifa & Fofafad o9-8 ey 59 & 919 &1 Seod fear 71 8 596 m1em 3 el &
3{TE URie &1 Uicied fdhar Sigm?

A &g

B. 31gY

C. |RE

D. gl&fT

E. T35l

Hi= fdu T famedl ©§ 9 gl SR @1 994 Difg:

1. HadAB IR C
2. FAAAARD
3.PdA A, C 3IRD
4. Fad A, B IARE

1 1

) 2

(3) 3

(4) 4

1[Option ID=16561]
2[Option ID=16562]
3[Option ID=16563]
4[Option ID=16564]

Sl. No.142
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In 1904, Curzon was the moving force behind the enactment of the Indian University Act which intended to
introduce radical changes into which of the following universities :

A. Calcutta

B. Bombay

C. Madras

D. Punjab (in Lahore)
E. Allahabad

Choose the most appropriate answer from the options given below :

A, Band C Only
.C.Dand E Only
A, C.Dand E Only
A B.C.,Dand E

1) 1
(2) 2
(3) 3
(4) 4

gy 1004 H yRdg foufaemeay sffan & siftfaaaa & fom tromaa oo o1 foge Sewa Fanfafag
=1 fasyfaeTerdl & Simae-g uRacHl &1 YB3 BT UI?

A. FaPl
B.dl%

C. ua

D. U9 (AR )
E. gdileldlq

19 AU Tt fdwedl # 9 9ad Sugad SR &1 99 ST

1. HAT A, B3R C
2.%HadC, D HRE
3.%dd A, C,D ARE
4.A.B,C,D3RE

1 1

) 2

(3) 3

(4) 4
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1[Option ID=16565]
2[Option ID=16566]




3[Option ID=16567]
4[Option ID=16568]
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Given below are two statements :
Statement I : UGC is a central government organization established by an Act of Parliament in 1956.

Statement IT : UGC has established five regional centres in order to ensure proper functioning.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement I is incorrect.
4, Statement I is incorrect but statement IT is correct.
1 1
(2) 2
(3) 3
(4) 4

I < Py RRE e &

HYA 1 goir, 1956 T g H sififaw g1 wiftd fesan 1ot te St R A 7
HYA 11 : Goildi! - THRI e &1 GH1Yd S & o4 1 did g5 Sl ol =0d B g
SWRIE Y & ele U, i fau 7y faseul O 9 a8 Iugad TR 1 99 BIoI:

PYF I AR SHI TR § |
HYTI AR IS TATE |
. FHYTI1TE . AP HYT I 7TEd ¢ |
. FHYF 17T ©, i PUA LB |

1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=16569]
2[Option ID=16570]
3[Option ID=16571]
4[Option ID=16572]
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Ministry of Environment and Forests, Govt. of India with the help of centre for Environment Education
(CEE). launched a National Environmental Awareness campaign (NEAC) in 1986 to increase
awareness about the environment in various target groups in the country.

1. Chennai
2. Ahmedabad
3. Delhi
4. Hyderabad
1) 1
(2) 2
(3) 3
(4) 4
YR TRPR & YFIa0l Ud a4 HATe = Uia=l 18T 8 s (S1HTe) . DI gegd g ¢9 o
fafdre wiférd el & He TaiaRul & §1R H SFRadl H gl 8 a4 1986 H AP Gaiaruiig Sreesdl
IR BT (TR T BT H3HTd B

1. 99

. MEHEIETE
fowett
ERIEIES

oS

1) 1
2) 2
(3) 3
(4) 4




1[Option ID=16573]
2[Option ID=16574]
3[Option ID=16575]
4[Option ID=16576]
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Which of the following is an important archacological site declared by UNESCO as a world Heritage site in
1980 7

. Takshshila
. Mithila
Jallabhi

. Nalanda
1) 1

(2) 2

(3) 3

(4) 4

FAfaRad o 9 M U He@qul RIS R § [oRIe6! Z-%] gRTaY 1080 B 0% eR1g @d 9ifta
fepa T

1. deffRrer
2. THfEr

3. aeaHl

4, Alel=al

(1 1

(2) 2

(3) 3

(4) 4
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1[Option ID=16577]
2[Option ID=16578]
3[Option ID=16579]
4[Option ID=16580]
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Read the following passage and answer the question.
Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

» Mesopotamia - the valleys of the Tigris and Euphrates rivers
* The lower Nile valley.
* The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean, in the Yellow River valley of China, in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced, irrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop, The Minoan civilisation cities of
Knoszos and Phaistos, which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.

frgfafiad ey $i ufgu sk uy @1 3w il

ST A5ES - e Hifd Ug &1 TaI 4T 5500 98 U4 yH We™l & snfaufa § Fafea worme & ofead=i
% quiv & fere fobam o1 1o/ &t o Fdwym 3 e |rTiie-Siide uikad-gu. 4 9 -

« Tt - goe SR GRid Al $1 grfed
. 5 i arel
. Riy=dl & dgr &=

g1e ¥ yreg SR &7 & 36-F1d, 17 1 I ) ardl, <famn gd vk SR st § wre gy
AT g3 | 39 UPR Ugcl x| BT HEA: 3 &1 § SfTfaHid gaf 52 {1 Tarsigdl J1H1 o1l 8|

ST gRacH! ST 59 Ay F Y SOR TauTsI SIei shifd off Sl @1 8,000 5. 9, 5% | 98 a6 gafl
ofdl U] & UTelq &1 of- 7R SR SN UR SeTRd RIFgl Hiv- R 1fd 3 armad siig-siel &
gt @ i S 1 wifa & 9y Riars ufafiar [Geiad g3 | 39 a1 o1 ugE wifd 4 9 9
<t o1 aTa g, TieuaTe Sl 9T b 3R eTg-fas= | quT @14 4,000 3.9, 53 OG-t @1
TSR GHaaa Faifes Aeayyl SfaspR o1 Fifd 1 & 918 & Yedlse! & qordl 3R PIId A1&01 &
ﬁa%aﬁlﬁiﬁ%ﬁﬁwﬁ$ HHR ¥ 91G §s SR U ¥ gRad gu fods dRuT er d
affeaor |

TYH Y30 & BB a5 § AMUIRS D= [epTHd g1 $RH gU| fedly Fgdies! 5.9, & HuHlg & SR
@i I THd AR 91 & & 3R Her WeRl &1 9ual 94981 R 9 35 411 gd & ga-1 J del
S TAM R W53 SR caraie yuiferdl & famra &t sameft ot gAF SR = @il @t |

Based on the information given in the passage, arrange the following events in correct chronological order.

A. Emergence of the first cities

B. Neolithic Revolution

C. Invention of writing

D. The Minoan civilisation cities which flourished in Crete

Choose the correct answer from the options given below :
A B.C.D

1.
2

3.
4.

WO W
&0
nwo
wilw i

1 1
) 2
3) 3

(4) 4




TR H W I & YR R 9 ge13il 1 el SIeish A aR Haieyd Hifve:

A. 74T B3 31 3nfaufa
B. 9IS HIHE hild
C. TR &1 AR

D. ®ic & Igd R ad & I
i fau e famedl & |l SR &1 99 BT

.A,B.C,D

B b
ROW;
P
Nnwo
o oe

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16581]
2[Option ID=16582]

3[Option ID=16583]
4[Option ID=16584]
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Read the following passage and answer the question.

Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

» Mesopotamia - the valleys of the Tigris and Euphrates rivers
* The lower Nile valley.
* The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean, in the Yellow River valley of China, in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced, irrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop, The Minoan civilisation cities of
Knossos and Phaistos, which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.

frgfafiad ey $i ufgu sk uy @1 3w il

TS A15es A XEX1 Hifd Ug BT FINT THI 5500 T4 Ud WH 6T & Sfquia I Rfea gars & ufead-i
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« TR - S SR gRId Afed] $1 grfedi
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The term LICs in the passage most likely represents

1. Lower Indo-China
2. Later Indus and China
3. Low Income Countries
4. Laos India and China
1) 1
) 2
(3) 3
(4) 4

TR § Ve Ug ass sl 1 9 I O watfie Syaqdl feue! neikid sxd s 2

1. ISR 58 l-arsAl
2. TR 559 TS A1
3. A gAHH DLlS
4. TSI ST US A5l
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=16585]
2[Option ID=16586]
3[Option ID=16587]
4[Option ID=16588]
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Read the following passage and answer the question.
Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

» Mesopotamia - the valleys of the Tigris and Euphrates rivers
* The lower Nile valley.
* The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean, in the Yellow River valley of China, in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced, irrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop, The Minoan civilisation cities of
Knoszos and Phaistos, which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.

frgfafiad ey $i ufgu sk uy @1 3w il
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Which major development led to the transformation of villages in the plains between Euphrates and Tigris,
into urban centres ?

. The Emergence of wheeled cart
. Neolithic Revolution

kd =

3. Metallurgy
4. Invention of Writing
1)1
(2) 2
3) 3
(4) 4

fFrafefEd # 9 foog ueE uRue & FIod BRI 3R aofal & &g & HaT &3 & 7ial & W6l =l |
F IR G312




(4) 4

1[Option ID=16589]
2[Option ID=16590]
3[Option ID=16591]
4[Option ID=16592]
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Read the following passage and answer the question.

Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

» Mesopotamia - the valleys of the Tigris and Euphrates rivers
*» The lower Nile valley.
» The plains of the river Indus.

Later. urban civilisations developed around the Mediterranean, in the Yellow River valley of China, in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced, irrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop, The Minoan civilisation cities of
Knossos and Phaistos, which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.

frafafad T i ufgu ik uy 1 IR il
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Arrange the following places where urban centres developed, in correct chronological order.

A Greece

B. Crete

C. Rome

D. The plains of river Indus

Choose the correct answer from the options given below :

1.D,B,A,.C
2.D,C.,B,A
3.A. B
480D Ci B
1)1
(2) 2
3) 3
(4) 4




fFrafifed = & Jel et T AaRid 50, 96l SapAuR ooafeyd @i

Hi= fdu e fosedl & 9 98! SR &1 99+ Difog:

1.D,B,A, C
2.D,C,B.A
3.4,D,B,C
4.A.D.C.B

(11

(2) 2

(3) 3

(4) 4

1[Option ID=16593]
2[Option ID=16594]
3[Option ID=16595]
4[Option ID=16596]
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Read the following passage and answer the question.

Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

+ Mesopotamia - the valleys of the Tigris and Euphrates rivers
*» The lower Nile valley.
» The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean, in the Yellow River valley of China, in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced, irrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop, The Minoan civilisation cities of
Knossos and Phaistos, which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.
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Given below are two statements :
Statement [ : Urban centres in China developed before they developed in the plains of Indus river.

Statement II : Trading centres developed much later than the first cities.
In the light of the above statements, choose the cotrect answer from the options given below :

. Both Statement I and Statement II are true
. Both Statement I and Statement IT are false
. Statement I is true but Statement II is false
. Statement I is false but Statement II is true
(1) 1
(2) 2
3) 3
(4) 4
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(1) 1

(2) 2

(3) 3
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1[Option ID=16597]
2[Option ID=16598]
3[Option ID=16599]
4[Option ID=16600]




